Kris W. Kobach, Secretary of State	Ster Pages 961-996
In this issue	Page
Legislature Interim committee schedule	
Rates	
Pooled Money Investment Board Notice of investment rates	
Notices	
Kansas Department of Transportation Request for comments on STIP amendment	
Notice to contractors Department of Agriculture – Division of Water Conservation	
Notice to contractors	964
Kansas Department of Administration—Procurement and Contracts Notice to bidders for state purchases	
City of Wichita, Kansas Notice to bidders	
Kansas Board of Regents Universities Notice to bidders	
Kansas Department of Health and Environment	
Notice concerning proposed air quality class I operating permit renewal Notice concerning pending water pollution control general permit	
Notice concerning water pollution control permits/applications	
Notice of forfeiture	
Executive Directive Office of the Governor	
Executive Directive No. 17-481, authorizing expenditure of federal funds	968
Bond Sales	
City of Herndon, Kansas Notice of intent to seek private placement general obligation bonds	
City of Lawrence, Kansas Summary notice of bond sale	
City of Wichita, Kansas Summary notice of bond sale	
Regulations	
Kansas Department of Health and Environment Notice of hearing on proposed administrative regulations	
Kansas Insurance Department Permanent administrative regulation	
Kansas Department for Children and Families	
Permanent administrative regulations Kansas Lottery	
Temporary administrative regulatons	
Index to administrative regulations	

State of Kansas

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Aug 22	548-S	9:00 am	Joint Committee on Home and Community Based Services and KanCare Oversight, Robert G. (Bob) Bethell	Presentations on KanCare; KanCare Report on Managed Care Organizations' Financial Status; Update on Osawatomie and Larned State Hospitals; KanCare Intellectual/Developmental Disability Population; KanCare Ombudsman Update; Agencies' and MCOs' Response to Stakeholders' Concerns; MCO Presentations.
Aug 22	112-N	8:00 am	Child Welfare System Task Force	Discussion on Facilitator Proposals.
Aug 23	548-S	10:00 am	Joint Committee on Home and Community Based Services and KanCare Oversight, Robert G. (Bob) Bethell	Update on KanCare Process Improvement Working Group; Prescription Dispensing Fees.
Aug 23	Legislative Post Audit Conference Room 1 800 SW Jackson Suite 1200	10:00 am	Executive Legislative Post Audit Committee	FY 2018-2019 Budget Revisions; Potential Rules Changes; and Potential Legislation Post Auditor Evaluation.

Tom Day Director of Legislative Administrative Services

Doc. No. 045654

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2017. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp.

Published by Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office: 1st Floor, Memorial Hall 785-296-0082 Fax 785-296-8577 kansasregister@ks.gov

State of Kansas Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 8-21-17 th	rough 8-27-17
Term	Rate
1-89 days	1.16%
3 months	1.05%
6 months	1.12%
12 months	1.23%
18 months	1.27%
2 years	1.32%
-	

Scott Miller Director of Investments

Doc. No. 045645

State of Kansas

Department of Transportation

Request for Comments

The Kansas Department of Transportation (KDOT) requests comments on the amendment of the Statewide Transportation Improvement Program (STIP) FY 17-20. The comprehensive list of project(s) being amended to the STIP may be viewed online at: http://www.ksdot. org/bureaus/burProgProjMgmt/stip/stip.asp. This list includes projects for counties, cities, and projects on the State Highway System.

The amendment of the STIP requires a public comment period of 14 days. To make a comment on this STIP amendment, contact KDOT's Bureau of Program and Project Management, 2nd Floor Tower, 700 SW Harrison, Topeka, KS 66603-3754; 785-296-2252; Fax 785-296-8168.

This information is available in alternative accessible formats. To obtain an alternative format, contact the KDOT Office of Public Affairs at 785-296-3585 (Voice/ Hearing Impaired–711).

The comment period regarding the STIP amendment for these projects will conclude September 6th, 2017.

Richard Carlson Secretary

Doc. No. 045646

State of Kansas

Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at https://kdotapp.ksdot.org/Proposal/ Proposal.aspx. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "NonBid Holders List" as a subcontractor/ supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The secretary reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation *Standard Specifications for State Road and Bridge Construction*.

KDOT will only accept electronic Internet proposals using the Bid Express website at http://www.bidx.com until 1:00 p.m. local time Sept. 20, 2017. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 SW Harrison, Topeka, Kansas, at 1:30 p.m. local time Sept. 20, 2017. An audio broadcast of the bid letting is available at http://www.ksdot.org/ burconsmain/audio.asp.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

District One - Northeast

Atchison – 3 C-4797-01 – Major collectors: RS-17, 18, 19, 20, 21, 22, 23, 25, 26, 27, 28, 702, 806, 1700, 1783, 1869, and 2105, signing, 171.0 miles. (Federal Funds)

Doniphan – 22 C-4799-01 – All major collectors throughout the county, signing, 211.0 miles. (Federal Funds)

Douglas – 23 TE-0373-01 – Preservation of Santa Fe Station located at 413 E. 7th Street in Lawrence, rehabilitate and operating of historic transportation buildings. (Federal Funds)

Jefferson – 04-44 KA-3217-01 – K-4, bank stabilization on the south bank of Rock Creek approximately 0.5 miles northeast of Meriden (near Reference Post 343.7), special. (State Funds)

Lyon – 35-56 KA-4419-01 – Bridge # 118 (Neosho River) on I-35 located 3.7 miles east of K-99, just east of the U.S. 50 junction, bridge repair. (State Funds)

Marshall – 58 TE-0440-01 – City of Marysville on U.S. 77 south of Walnut Street, pedestrian and bicycle paths, 0.3 mile. (Federal Funds)

Statewide – 106 KA-4235-05 – Various rest area locations in the state, special. (Federal Funds)

District Two — North Central

McPherson – 59 TE-0443-01 – In McPherson, from Avenue A at Thunderbird Street east to Centennial Drive then north to South Front Street, pedestrian and bicycle paths, 1.5 miles. (Federal Funds)

Statewide – 106 KA-4637-01 – Various locations in District Two in Ellsworth, McPherson and Geary counties, milling. (State Funds)

(continued)

District Three – Northwest

Cheyenne – 161-12 KA-4639-01 – K-161 from U.S. 36/ K-161 junction north to the Kansas/Nebraska state line, milling and overlay, 17.0 miles. (State Funds)

Wallace – 27-100 KA-4640-01 – K-27 from the Greeley/ Wallace county line north to the Wallace/Sherman county line, milling and overlay, 30.5 miles. (State Funds)

Wallace – 27-100 M-0057-01 – Stockpile for K-27 project from the Greeley/Wallace county line north to the Wallace/Sherman county line, stockpile bituminous material, 30.5 miles. (State Funds)

District Four — Southeast

Elk – 25 C-4847-01 – All major collectors in the western half of Elk county, signing, 74.0 miles. (Federal Funds)

Labette – 400-50 KA-4635-01 – U.S. 400, pavement marking, 11.3 miles. (Federal Funds)

Linn – 69-54 KA-4661-01 – U.S. 69, from the north edge of Bridges #032 and #047 north to the Linn/Miami county line, 3-inch overlay, 6.2 miles. (State Funds)

District Five — South Central

Cowley – 18 KA-4636-01 – Approximately 135 feet south of the intersection with highway U.S. 166 to area by second boat ramp on the Cowley County State Lake Dam, 4-inch overlay, 0.2 mile. (State Funds)

Sedgwick – 235-87 KA-4630-01 – I-235, bridge #105 (Little Arkansas River) located 1.4 miles east of K96, bridge repair. (State Funds)

District Six – Southwest

Haskell – 41 C-4822-01 – Approximately 528 feet northwest of U.S. 56 on RS-1796 (County Road CC), flood damage. (Federal Funds)

> Richard Carlson Secretary

Doc. No. 045647

State of Kansas

Department of Agriculture Division of Conservation

Notice to Contractors

Sealed bids for the primary spillway replacement and wave erosion repair at Floodwater Retarding Dam 5-11 in Ness County, will be received by Pawnee Watershed Joint District No. 81, PO Box 367, 20476 SE Highway 283, Jetmore, KS 67854, until 7:00 p.m. September 18, 2017, at which time and place bids will be publicly opened and read aloud.

Description of Work: Primary Spillway Replacement includes excavating to remove existing primary spillway and installing new a primary spillway consisting of 48-inch diameter precast concrete manhole and 24-inch diameter PVC pipe. Estimated quantities include 8,000 cubic yards of excavation, 9,700 cubic yards of earthfill, 186 feet of 24-inch AWWA C905 PVC pipe, and appurtenant items.

Wave Erosion Repair includes excavating and filling to reshape dam front slope and installing concrete filled geoweb for erosion protection. Estimated quantities include 150 cubic yards excavation, 550 cubic yards earthfill, 129 cubic yards of concrete, and 240 feet of fencing.

All work shall be completed in conformance with the project Construction Drawings, Construction Specifications, and Stormwater Pollution Prevention Plan.

Work Timing: The work is to commence within twenty (20) calendar days after the Notice to Proceed is issued. Completion of the work is desired within 180 days after such notice.

A copy of the Invitation to Bid, plans, and specifications can be reviewed and/or obtained from Pawnee Watershed Joint District No. 81, PO Box 367, 20476 SE Highway 283, Jetmore, KS 67854, phone 620-357-6420.

A site showing will be conducted by Pawnee Watershed Joint District No. 81 on September 11, 2017, from 1:00 p.m. to 2:30 p.m., at the site.

All bids must be accompanied by a certified check, cashier's check, or a Bid Bond for not less than 5 percent (5%) of the Total Bid Price (including alternates), made payable to Pawnee Watershed Joint District No. 81.

For any questions pertaining to the project listed above, please contact Mr. Hakim Saadi, P.E. Watershed Program Manager at 785-291-3099 or hakim.saadi@ks.gov

> Robert Reschke Executive Director

Doc. No. 045651

State of Kansas

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

08/30/2017	EVT0005285	KS Council on Development Disabilities Website
09/07/2017	EVT0005283	Landscape Sod
09/14/2017	EVT0005270	Managed Care Organization
		(MCO) for Drugs Abuse Services

The above referenced bid documents can be downloaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/ bid-solicitations

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/ additional-files-for-bid-solicitations

There Are No Bids Under This Website Closing In This Week's Ad

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Tracy T. Diel, Director Procurement and Contracts

Doc. No. 045663

(Published in the Kansas Register August 24, 2017.)

City of Wichita, Kansas

Notice to Bidders

The City of Wichita will receive bids at the Purchasing Office, 455 N. Main, 12th Floor, Wichita, Kansas, until 10:00 a.m. **Friday, September 29, 2017** for the bidding of 127th Street East from 13th Street North to 21st Street North.

(KDOT Project No. 87N-0615-01/472-85158/211529) (OCA Code 707065

Plans and specifications for this project will be available on August 23, 2017. Requests for the bid documents and plans should be directed to ARC Document Solutions, 316-264-9344, or you may contact Jody Doyle 316-268-4503. Other questions should be directed to the respective design engineer 316-268-4501.

All bids received will thereafter be publicly opened, read aloud, and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the city manager and according to plans and specifications on file in the office of the city engineer. Bidders are required to enclose a bid bond in the amount of five per cent (5%) with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Kim Pelton, 316-268-4499 for extra sets of plans/specs.

Jody Doyle Administrative Aide II City of Wichita-Engineering

Doc. No. 045658

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: http://www.emporia. edu/busaff/purchasing. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: purchaseorders@emporia. edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801-5415.

Fort Hays State University – Bid postings: http://www.fhsu. edu/purchasing/bids/. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https://www.k-state. edu/purchasing/rfq. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. **Pittsburg State University** – Bid postings: http://www.pittstate. edu/office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: jensch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas – Electronic bid postings: http://www. procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 30, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: http:// www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: http://www.wichita. edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

> Cathy Oehm Chair of Regents Purchasing Group Assistant Director of Purchasing Kansas State University

Doc. No. 045529

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Class I Operating Permit Renewal

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) and the Unified Government of Wyandotte County/Kansas City, Kansas' Department of Air Quality (DAQ) are soliciting comments regarding a proposed air quality operating permit. Phillips 66 Carrier – Kansas City Product Terminal has applied for a Class I operating permit in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Phillips 66 Carrier of Houston, TX, owns and operates a liquid petroleum pipeline and terminal located at 2029 Fairfax Trafficway, Kansas City, KS 66117.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review, during normal business hours, at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the DAQ, 619 Ann Ave., Kansas City, KS 66101. To obtain or review the proposed permit and supporting documentation, contact Sherry Walker, 785-296-1570 at the central office of the KDHE or Mark Weckwerth at 913-573-6700, at the DAQ. The standard departmental cost will be assessed for any copies requested.

(continued)

Please direct written comments or questions regarding the proposed permit to Mark Weckwerth, DAQ, 619 Ann Ave., Kansas City, KS 66101. In order to be considered in formulating a final permit decision, written comments must be received no than later noon Monday, September 25, 2017.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Mark Weckwerth at the address listed above, or by fax to 913-342-5634, and must be received by noon Monday, September 25, 2017, in order for the secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Susan Mosier, MD, MBA, FACS Secretary and State Health Officer

Doc. No. 045655

State of Kansas

Department of Health and Environment

Notice of a Pending Kansas Water Pollution Control General Permit for Ready-Mixed Concrete Plants, Concrete Product Plants and Their Associated Facilities

The Kansas Department of Health and Environment (KDHE) has prepared a Kansas/NPDES Water Pollution Control General Wastewater Control Permit for operating wastewater treatment/retention facilities for readymixed concrete plants, concrete product plants, and their associated facilities. The draft permit covers both total retention facilities and facilities which discharge treated wastewater to surface waters of the state. The draft permit also requires the permittee to submit a stormwater pollution prevention certification and Comprehensive Site Compliance Evaluation annually.

A general wastewater permit is provided for those entities engaged in similar activities and discharging the same types of wastewater. The wastewater from these types of activities has a low public health and environmental risk. A general permit is placed on public notice once during the life of the permit and then is made available, without further public notice, to entities for activities which meet the requirements of the permit. The permittees are also required to meet all other federal, state, and local requirements including local zoning ordinances.

The draft permit contains limits for oil and grease, total suspended solids, pH, and monitoring for effluent flow, sulfate, and chlorides. The permittee is also required to conduct inspections of the stormwater runoff control system. To be covered under the draft permit, the permittee is required to submit the Notice of Intent and receive a signed and dated permit from KDHE.

Copies of the Notice of Intent application, instructions, draft permit, and fact sheet may be viewed on the KDHE website at http://www.kdheks.gov/water/tech.html or requested in hard copy by writing: Kansas Department of Health and Environment, Bureau of Water–Technical Services Section, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

Persons wishing to comment on the draft permit must submit written comments to the above address by September 23, 2017.

> Susan Mosier, MD, MBA, FACS Secretary and State Health Officer

State of Kansas

Doc. No. 045660

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the State by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-17-152/158

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Ron Hrabe Rock'n R Angus 501 Cemetery Road Plainville, KS 67663	W/2 of Section 10 T09S, R17W Rooks County	Solomon River Basin

Kansas Permit No. A-SORO-B015

This is a renewal permit for an existing facility for 695 head (695 animal units) of cattle weighing more than 700 pounds, 600 head (300 animal units) of cattle weighing less than 700 pounds and 2 head (4 animal units) of horses. This represents a reduction in head numbers from 8,000 head (8,000 animal units) of cattle weighing more than 700 pounds and 12 head (24 animal units) of horses in the previous permit. Facility is downsizing to a State Permit and has Schedule of Compliance to submit a Ground Water Monitoring Plan to the Department within 180 days of issuance of the Permit.

Name and Address of Applicant	Legal Description	Receiving Water
Brad Ohlde Ohlde Pork 1711 11th Road Clifton, KS 66937	SW/4 of Section 01 T04S, R01E Washington County	Lower Republican River Basin

Kansas Permit No. A-LRWS-S032

Notice

This permit is being reissued for an existing facility with a maximum capacity of 2,400 head (960 animal units) of swine more than 55 pounds. There is no change in the permitted animal units from the previous cycle.

Name and Address of Applicant	Legal Description	Receiving Water
Jennifer A. Gerety J-Six Farms – Gudenkauf Site 604 Nemaha St. PO Box 170 Seneca, KS 66538	NW/4 of Section 04 T055, R12E Nemaha County	Kansas River Basin

Kansas Permit No. A-KSNM-S038

This permit is being reissued for an existing facility with a maximum capacity of 2,490 head (996 animal units) of swine more than 55 pounds. There is no change in the permitted animal units from the previous permit cycle.

Name and Address of Applicant	Legal Description	Receiving Water
Jonas D. Beachy Beachy Dairy 6052 Udall Road Chetopa, KS 67336	SE/4 of Section 13 T34S, R20E Labette County	Neosho River Basin

Kansas Permit No. A-NELB-M014

This permit is being reissued for an existing facility with a maximum capacity of 30 head (15 animal units) of dairy calves, 30 head (30 animal units) of dairy heifers, and 60 head (84 animal units) of mature dairy cattle, for a total of 129 animal units. There is no change in the permitted animal units from the previous permit cycle.

Name and Address of Applicant	Legal Description	Receiving Water
Lynn Dale Yoder 23668 NW Indiana Road Welda, KS 66091	NW/4 of Section 07 T21S, R19E Anderson County	Marais des Cygnes River Basin

Kansas Permit No. A-MCAN-M021

This permit is being reissued for an existing facility with a maximum capacity of 60 head (84 animal units) of mature dairy cattle, 15 head (15 animal units) of dairy heifers, and 15 head (7.5 animal units) of dairy calves, and 3 head (6 animal units) of horses, for a total of 112.5 animal units. There is no change in the permitted animal units from the previous permit.

Name and Address of Applicant	Legal Description	Receiving Water
Emmett D. Aistrup 102 South Grover Hanston, KS 67849	NW/4 of Section 08 T22S, R21W Hodgeman County	Upper Arkansas River Basin

Kansas Permit No. A-UAHG-B016

This permit is being reissued for an existing facility with a maximum capacity of 600 head (300 animal units) of cattle 700 pounds or less. There is no change in the permitted animal units from the previous permit cycle.

Name and Address of Applicant	Legal Description	Receiving Water
David R. Cross Top Line Feed Yard 1118 200th Ave. Lewis, KS 67552	NW/4 of Section 29 T24S, R17W Edwards County	Upper Arkansas River Basin

Kansas Permit No. A-UAED-B004

This permit is being reissued for an existing facility with a maximum capacity of 900 head (900 animal units) of cattle weighing more than 700 pounds and 10 head (20 animal units) of horses, for a total of 920 animal units. There is no change in the permitted animal units from the previous permit cycle.

Public Notice No. KS-AG-R-17-017

Per Kansas Statutes Annotated 65-171d, the following Registration have been received for proposed confined feeding facilities:

Name and Address of Registrant	Legal Description	County
Julia Nelson Husky Hogs, LLC PO Box 8 Long Island, KS 67647	Center of Section 34 T01S, R20W	Phillips

Public Notice No. KS-Q-17-104/107

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Norwich, City of PO Box 100 Norwich, KS 67118	Ninnesach River via Sand Creek	Treated Domestic Wastewater

Kansas Permit No. M-AR67-OO02 Federal Permit No. KS0095494

Legal Description: S¹/₂, NE¹/₄, S2, T30S, R5W, Kingman County, KS

The proposed action is to reissue an existing State/NPDES permit for an existing facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, total hardness, calcium, magnesium, sodium, alka-linity, chlorides, sulfates, nitrates, fluorides, iron, manganese, and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Occidential Chemical Corporation	Valley Center Floodway via	Groundwater Remediation Project
6200 S. Ridge Road	Cowskin Creek via	itemediation i roject
Wichita, KS 67215	Unnamed Tributary	

Kansas Permit No. I-AR94-PO93 Federal Permit No. KS0096903

Legal Description: SW1/4, S27, T28S, R1W, Sedgwick County, KS

Facility name: Occidental Chemical Corp., Groundwater Remediation Project

The proposed action is to reissue an existing State/NPDES permit for discharge during a groundwater remediation project. Groundwater is extracted from various interceptor wells to treat and control groundwater that is impacted by elevated concentrations of chlorinated hydrocarbons located within the surrounding area. The

(continued)

proposed permit contains limits for α -BHC, β -BHC, γ -BHC, carbon tetrachloride, chloroform, whole effluent toxicity, and pH, as well as monitoring for chlorides, priority pollutants, and flow.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Sharpline Converting, Inc. PO Box 9608 Wichita, KS 67277	Cowskin Creek via Unnamed Tributary via Old Railroad Ditch	Non-Contact Cooling Water

Kansas Permit No. I-AR94-CO55 Federal Permit No. KS0089753

Legal Description: SW1/4, S28, T27S, R01W, Sedgwick County, KS

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility manufactures self-adhesive vinyl graphics and pin stripping for automotive trim by converting, cutting, and printing. The discharge consists of once-through, noncontact cooling water used in air conditioning condensers and a rotary printing press. The proposed permit contains generic language to protect Waters of the state.

Public Notice No. KS-NQ-17-011

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g).

Name and Address of Applicant	Legal Location	Type of Discharge
Syracuse, City of PO Box 148 Syracuse, KS 67878	NE¼, NW¼, S17, T24S, R04W, Hamilton County, KS	Non-Overflowing

Kansas Permit No. M-UA39-NO01 Federal Tracking No. KSJ000258

This action consists of reissuing an existing Kansas Water Pollution Control Permit for existing non-overflowing facility. Contained in the permit is a schedule of compliance requiring the permittee to complete construction of the upgraded to the facility by April 30, 2018.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

All comments regarding the draft documents or application notices received on or before **September 23**, **2017**, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-17-152/158, KS-AG-R-17-016, KS-Q-17-104/106, KS-NQ-17-011) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, Kansas. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Susan Mosier, MD, MBA, FACS Secretary and State Health Officer

Doc. No. 045659

State of Kansas

Secretary of State

Notice of Forfeiture

In accordance with Kansas statutes, the business entities organized under the laws of Kansas and the foreign business entities authorized to do business in Kansas that are listed in the linked document were forfeited during the month of July 2017 for failure to timely file an annual report and pay the annual report fee. The lists of forfeited domestic and foreign business entities can be found at the following link under the August 24, 2017 issue of the Kansas Register.

http://www.sos.ks.gov/pubs/pubs_kansas_register.asp

Please Note: The lists represents business entities forfeited in July. Any business entity listed may have filed for reinstatement and be considered in good standing. To check the status of a business entity go to the Kansas Business Center's Business Entity Search Station at https://www.kansas.gov/bess/flow/main?execution=e2s4 (select Business Entity Database) or contact the Business Services Division at 785-296-4564.

> Kris W. Kobach Secretary of State

Doc. No. 045649

State of Kansas

Office of the Governor

Executive Directive No. 17-481 Authorizing Expenditure of Federal Funds

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

Pursuant to the authority of the Secretary of the Kansas Department of Health and Environment to receive and expend federal funds, and pursuant to the authority granted the Governor by Sec. 250(a) of *The 2017 Session Laws of Kansas*, approval is hereby granted to the Department of Health and Environment for expenditure in FY 2018 monies in the federal fund account entitled "Lifting Young Families Toward Excellence federal fund."

Kansas Register

I have conferred with the Director of the Budget and members of my staff, and I have determined that the guidelines set forth in KSA 75-3711 and 75-3711c have been applied and that none of the foregoing actions exceeds the limitations contained therein.

Dated August 14, 2017.

Doc. No. 045648

(Published in the Kansas Register August 24, 2017.)

City of Herndon, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2017

Notice is hereby given that the City of Herndon, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$350,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated August 14, 2017.

Kelsey Wahrman City Clerk

Sam Brownback Governor

Doc. No. 045662

(Published in the Kansas Register August 24, 2017.)

City of Lawrence, Kansas

Summary Notice of Bond Sale \$15,575,000* General Obligation Improvement Bonds Series 2017-D

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

Bids

Subject to the Notice of Bond Sale dated August 22, 2017 (the "Notice"), facsimile, written and electronic bids will be received on behalf of the finance director of the City of Lawrence, Kansas (the "Issuer") in the case of written bids, at the address set forth below, and in the case of electronic bids, through PARITY[®] until 11:00 a.m. (CDT), on **September 12, 2017**, for the purchase of the above-referenced bonds (the "Bonds"). No bid of less than 100% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated September 28, 2017, and will become due on September 1 in the years as follows:

Year	Principal Amount*	Year	Principal Amount*
2018	\$535,000	2029	\$475,000
2019	925,000	2030	495,000
2020	940,000	2031	505,000
2021	960,000	2032	520,000
2022	970,000	2033	535,000
2023	1,005,000	2034	555,000
2024	1,025,000	2035	575,000
2025	1,055,000	2036	595,000
2026	1,075,000	2037	615,000
2027	1,105,000	2038	635,000
2028	475,000		

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on March 1 and September 1 in each year, beginning on September 1, 2018.

Book-Entry-Only System

The Bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

Good Faith Deposit

The successful bidder for the Bonds shall submit a good faith deposit in the form of a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$311,500.00 in the manner that complies with the requirements set forth in the Notice.

Delivery

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about September 28, 2017, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2016 was \$1,022,983,962. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold but excluding the temporary notes to be retired with a portion of the proceeds of the Bonds, is \$119,159,000.

Approval of Bonds

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Kansas City, Missouri, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds and delivered to the successful bidder as and when the Bonds are delivered.

Additional Information

Additional information regarding the Bonds may be obtained from the undersigned or the Municipal Advisor at the addresses set forth below:

City of Lawrence, Kansas Bryan Kidney, Finance Director City Hall 6 E. 6th St. Lawrence, KS 66044 785-832-3214 Fax: 785-832-3405 bkidney@lawrenceks.org

Municipal Advisor-Facsimile Bid Address:

Springsted Incorporated Attn: Bond Services 380 Jackson St., Suite 300 Saint Paul, MN 55101 651-226-3000 Fax: 651-223-3046 bond_services@springsted.com

Dated August 24, 2017.

Gina M. Riekhof Bond Counsel

* Subject to change, see the Notice Doc. No. 045661

(Published in the Kansas Register August 24, 2017.)

City of Wichita, Kansas

Summary Notice of Bond Sale \$12,870,000* General Obligation Bonds Series 820

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

Bids

Subject to the Official Notice of Bond Sale, dated August 8, 2017, electronic bids for the purchase of the above-referenced bonds (the "Bonds") of the City of Wichita, Kansas (the "City") herein described will be received by the Director of Finance of the City via PARITY[®] until 10:00 a.m. (CDT), (the "Submittal Hour"), on **Thursday, September 7, 2017.** No bid of less than 100% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated October 1, 2017, and will become due on June 1 in the years as follows:

Payment Date (June 1)	Principal Amount*	Payment Date (June 1)	Principal Amount*
2018	\$790,000	2028	\$855,000
2019	705,000	2029	875,000
2020	720,000	2030	895,000
2021	735,000	2031	915,000
2022	750,000	2032	945,000
2023	765,000	2033	130,000
2024	785,000	2034	135,000
2025	800,000	2035	135,000
2026	820,000	2036	140,000
2027	835,000	2037	140,000

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as herein-

after provided, which interest will be payable semiannually on June 1 and December 1, beginning on June 1, 2018.

Book-Entry-Only System

The Bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the City in an amount equal to 2% of the principal amount of the Bonds.

Delivery

The City will pay for preparation of the Bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about **October 13, 2017** to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2016 is \$3,699,134,858. The total general obligation indebtedness of the City as of the Closing Date is \$691,580,000, which includes the Bonds being sold, the City's temporary notes which will be issued on the Closing Date, less the City's previously issued temporary notes to be retired out of proceeds of the Bonds and other funds on the Closing Date.

Approval of Bonds

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the City, printed on the Bonds and delivered to the successful bidder as and when the Bonds are delivered.

Additional Information.

Additional information regarding the Bonds, the delivery of the Deposit, and notification regarding the same may be obtained from the Department of Finance, 12th Floor, City Hall, 455 North Main, Wichita, KS 67202-1679, or by contacting:

Ms. Shawn Henning Director of Finance 316-268-4300 Fax: 316-219-6244 shenning@wichita.gov

Ms. Cheryl Busada Debt Coordinator 316-268-4143 Fax: 316-219-6216 cbusada@wichita.gov

Dated August 8, 2017.

City of Wichita, Kansas

*Subject to change, see Notice of Bond Sale dated August 8, 2017. Doc. No. 045650 State of Kansas

Department of Health and Environment

Notice of Hearing on Proposed Administrative Regulations

The Kansas Department of Health and Environment, Division of Public Health, Bureau of Community Health Systems, will conduct a public hearing at 10:00 a.m. Thursday, November 2, 2017, in the Azure Conference Room, fourth floor, Curtis State Office Building, 1000 SW Jackson, Topeka, Kansas, to consider the adoption of proposed amended regulations K.A.R. 28-35-135a, 28-35-135c, 28-35-135i, 28-35-135s, 28-35-135u, 28-35-140, 28-35-177a, 28-35-178i, 28-35-179a, 28-35-180a, 28-35-180b, 28-35-181h, 28-35-181i, 28-35-181k, 28-35-181m, 28-35-1810, 28-35-184a, 28-35-192a, 28-35-192c, 28-35-192g, 28-35-205b, 28-35-217b, 28-35-221a, 28-35-221b, 28-35-264, 28-35-288, 28-35-343, 28-35-344, 28-35-347, 28-35-362, and 28-35-504; the adoption of proposed new regulations K.A.R. 28-35-181t, 28-35-192h, 28-35-197b, and 28-35-700; and the proposed revocation of K.A.R. 28-35-197a and 28-35-230d, all regarding radiation control.

A summary of the proposed regulations and the estimated economic impact follows:

Summary of Regulations:

K.A.R. 28-35-135a. Definitions. Amended to meet Nuclear Regulatory Commission (NRC) compatibility requirements by removing the definition of "becquerel" and "curie," defined in 28-35-135b and 28-35-135c respectively, under the term "activity."

K.A.R. 28-35-135c. Definitions. Adds the definition of "consortium" for compatibility with NRC regulations.

K.A.R. 28-35-135i. Definitions. Adds the definitions of "Indian tribe" and "Indian tribal official" for compatibility with NRC regulations.

K.A.R. 28-35-135s. Definitions. Clarifies the definition of "survey" for compatibility with NRC regulations.

K.A.R. 28-35-135u. Definitions. Adds a description of "processing" to the definition of "unrefined or unprocessed ore" for compatibility with NRC regulations.

K.A.R. 28-35-140. Exemptions. Specifies exemptions for carriers for compatibility with NRC regulations.

K.A.R. 28-35-177a. General licenses; source material. Adopts the wording of the federal requirements for a general license for uranium and thorium in certain forms and quantities for compatibility with NRC regulations.

K.A.R. 28-35-178i. General licenses for certain units of radium-226. Adds descriptions of types of products that are issued a general license for certain units of radium-226 and clarifies language related to reports of damage, abandonment, disposal, export, and fee waiver for compatibility with NRC regulations.

K.A.R. 28-35-179a. Application for specific license; renewal or amendment. Adds essential information required for the license of a sealed source or device containing a sealed source for compatibility with NRC regulations.

K.A.R. 28-35-180a. General requirements for the issuance of specific licenses. Adds a description of minimization of introduction of residual radioactivity regulation for compatibility with NRC regulations.

K.A.R. 28-35-180b. Financial assurance for decommissioning. Adds descriptive information defining the criteria of a cost estimate, periodic adjustment timeframe of no longer than three years, and descriptor of prepayment terms for compatibility with NRC regulations.

K.A.R. 28-35-181h. Specific licenses to manufacture and distribute the devices specified in K.A.R. 28-35-178b. Adds the requirement to list certain devices or sources in the sealed source and device registry for compatibility with NRC regulations.

K.A.R. 28-35-181i. Special license to manufacture, distribute, assemble, or repair luminous safety devices for use in aircraft. Adopts by reference the comparable NRC regulation for compatibility with NRC regulations.

K.A.R. 28-35-181k. Specific licenses to manufacture and distribute ice detection devices. Adopts by reference the comparable NRC regulation for compatibility with NRC regulations.

K.A.R. 28-35-181m. Specific licenses to manufacture, prepare, or distribute radiopharmaceuticals containing radioactive material for medical use. Clarifies wording for designation of an authorized nuclear pharmacist, including positron emission tomography (PET) radioactive drugs for compatibility with NRC regulations.

K.A.R. 28-35-1810. Specific licenses to manufacture and distribute sources and devices for use as a calibration, transmission, or reference source or for certain medical uses. Adds the requirement to list certain devices or sources in the sealed source and device registry for compatibility with NRC regulations.

K.A.R. 28-35-181t. Requirements for license to initially transfer source material for use under the small quantities of source material general license. New regulation that adds requirements for transfer of source material for compatibility with NRC regulations.

K.A.R. 28-35-184a. Specific conditions on all licenses. Adds criteria for transfer of a license for compatibility with NRC regulations.

K.A.R. 28-35-192a. Exemptions; source material. Clarifies exemptions, adds a two percent by weight criteria for glassware, and adopts NRC regulatory language for depleted uranium for compatibility with NRC regulations.

K.A.R. 28-35-192c. Exceptions; other radioactive material. Replaces an incorrect reference to K.A.R. 28-35-197a with K.A.R. 28-35-197b for compatibility with NRC regulations.

K.A.R. 28-35-192g. Exemptions; exempt quantities. Replaces incorrect references to K.A.R. 28-35-197a with K.A.R. 28-35-198b and adds the word "owns" for compatibility with NRC regulations.

K.A.R. 28-35-192h. Certain industrial devices. New regulation that describes exemptions for certain industrial devices for compatibility with NRC regulations.

(continued)

K.A.R. 28-35-197a. Schedule B; exempt quantities of radioactive material. Revoked to allow for adoption of the NRC Schedule B in K.A.R. 28-35-197b for compatibility with NRC regulations.

K.A.R. 28-35-197b. Schedule B; exempt quantities of radioactive material. New regulation that adopts by reference Schedule B for compatibility with NRC regulations.

K.A.R. 28-35-205b. Alternate criteria for license termination. Adds a reference to financial assurance for compatibility with NRC regulations.

K.A.R. 28-35-217b. General monitoring requirements. Clarifies criteria for surveys and adds requirements for personnel dosimeters for compatibility with NRC regulations.

K.A.R. 28-35-221a. Procedures for picking up, transporting, receiving, and opening packages. Adds criteria for transporting radioactive material for compatibility with NRC regulations.

K.A.R. 28-35-221b. Appendix A; determination of A1, A2 and B quantities. Removes the table used to calculate activity limits that are used to regulate the transportation of radioactive materials and adopts by reference the NRC tables for compatibility with NRC regulations.

K.A.R. 28-35-230d. Reports of individual monitoring. Revoked to reflect programmatic updates to eliminate redundant and conflicting requirements for individual monitoring.

K.A.R. 28-35-264. General requirements. Corrects an adoption by reference date.

K.A.R. 28-35-288. Special requirements and exemptions for enclosed radiography. Corrects an error in numbering.

K.A.R. 28-35-343. Storage precautions. Deletes a portion of the regulation that was duplicated in K.A.R. 28-35-344.

K.A.R. 28-35-344. Transport precautions. Updates the wording for security requirements for transport of licensed materials for compatibility with NRC regulations.

K.A.R. 28-35-347. In-person inventory. Corrects programmatic inconsistency and sets the inventory period to six months.

K.A.R. 28-35-362. Notification of incidents, abandonment, and lost sources. Removes a reference to K.A.R. 28-35-364.

K.A.R. 28-35-504. Advance notification of shipment of certain types of licensed or registered material. Adds the requirement for notification of Indian tribes of shipments that cross the tribal boundaries for compatibility with NRC regulations.

K.A.R. 28-35-700. General requirements. Adopts by reference the NRC regulations for physical protection of by-product material for compatibility with NRC regulations.

Economic Impact

Cost to the agency: The estimated increased annual cost to the agency to implement these regulations is \$2,993.00.

© Kansas Secretary of State 2017

The additional cost to the agency will be funded by fees received from licensees.

Cost to the public and regulated community: The estimated annual cost to the Kansas licensees who must implement the requirements of these regulations is \$37,763.00. There is also an additional cost of \$2,322.00 that will occur once every ten years for a licensee to perform a background reinvestigation of each of their employees who are allowed unescorted access to the sources.

Cost to other governmental agencies or units: There are two state agencies that will have increased costs similar to those of the regulated community.

The time period between the publication of this notice and the scheduled hearing constitutes a 60-day public comment period for the purpose of receiving written public comments on the proposed regulations. All interested parties may submit written comments prior to 5:00 p.m. on the day of the hearing to Kimberly Steves, Kansas Department of Health and Environment, Bureau of Community Health Systems, Radiation Control Program, 1000 SW Jackson, Suite 330, Topeka, KS 66612-1365, by email to Kim.Steves@ks.gov, or by fax to 785-296-0984. During the hearing, all interested parties will be given a reasonable opportunity to present their views orally on the proposed regulations as well as an opportunity to submit their written comments. In order to give each individual an opportunity to present their views, it may be necessary for the hearing officer to request that each presenter limit an oral presentation to an appropriate time frame.

Complete copies of the proposed regulations and the corresponding regulatory impact statement may be obtained from the Radiation Control Program website at http://www.kdheks.gov/radiation/radpubnotice.html or by contacting Kimberly Steves at the address above, 785-296-4359 or fax 785-296-0984. Questions pertaining to the proposed regulations should be directed to Kimberly Steves at the contact information above.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulations and the regulatory impact statement in an accessible format. Requests for accommodation to participate in the hearing should be made at least five working days in advance of the hearing by contacting Kimberly Steves.

> Susan Mosier, MD, MBA, FACS Secretary and State Health Officer

Doc. No. 045656

State of Kansas

Kansas Insurance Department

Permanent Administrative Regulation

Article 4. – ACCIDENT AND HEALTH INSURANCE

40-4-35. Medicare supplement policies; minimum standards. (a) The Kansas insurance department's "policy and procedure to implement medicare supplement insurance minimum standards," including the appendices, dated May 18, 2017, is hereby adopted by reference, except for sections 1, 2, 25, and 26 and page 651-120.

(b) This regulation shall supersede any other Kansas insurance department regulation to the extent that the other regulation or any provision of it is inconsistent with or contrary to this regulation.

(c) If any provision of the document adopted in subsection (a) or the application of any provision of this document to any person or circumstance is for any reason deemed invalid, the remainder of this regulation and the application of the provision to other persons or circumstances shall not be affected. (Authorized by K.S.A. 40-103, K.S.A. 40-2221, and K.S.A. 40-2404a; implementing K.S.A. 2016 Supp. 40-2215, K.S.A. 40-2221, and K.S.A. 40-2404; effective May 1, 1982; amended May 1, 1984; amended May 1, 1986; effective, T-40-12-16-88, Dec. 16, 1988; amended, T-40-3-31-89, March 31, 1989; amended June 5, 1989; amended Oct. 15, 1990; amended April 1, 1992; amended May 24, 1996; amended, T-40-3-18-99, April 29, 1999; amended Aug. 20, 1999; amended Jan. 1, 2001; amended Sept. 7, 2001; amended Aug. 26, 2005; amended June 26, 2009; amended Sept. 8, 2017.)

> Ken Selzer, CPA Commissioner of Insurance

Doc. No. 045652

State of Kansas

Department for Children and Families

Permanent Administrative Regulations

Article 4.—MATERNAL AND CHILD HEALTH

28-4-802. (Authorized by K.S.A. 65-508; implementing K.S.A. 65-504 and 65-508; effective March 28, 2008; revoked Sept. 8, 2017.)

Article 47.-FOSTER CARE LICENSING

30-47-3. License requirements. Each individual shall meet the following requirements to obtain a license and to maintain a license:

(a) Submit a complete application for a license on forms provided by the department, including requests for the background checks specified in K.A.R. 28-4-805;

(b) be at least 21 years of age;

(c) have adequate financial resources to provide for the needs and financial obligations of the household, independent of foster care reimbursement payments; provide basic income and expense information to the secretary for review at the time of initial application and annual license renewal; and provide documentation of financial information for review as deemed necessary;

(d) participate in an initial family assessment, a family assessment for each renewal, and any additional family assessments conducted by the sponsoring child-placing agency. Each family assessment shall include at least one individual interview with each household member at least seven years of age and at least one visit in the family foster home;

(e) meet the training requirements in K.A.R. 28-4-806; and

(f) obtain and maintain ongoing sponsorship by a public or private child-placing agency, including a recommendation by the sponsoring child-placing agency that the home be used for placement of children in foster care. (Authorized by K.S.A. 2016 Supp. 65-508, 75-3084, and 75-3085; implementing K.S.A. 2016 Supp. 65-504 and 65-508; effective Sept. 8, 2017.)

Phyllis Gilmore Secretary

Doc. No. 045653

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4. – INSTANT GAMES AND DRAWINGS

111-4-3491. "Tree Frog Tripler" instant ticket lottery game number 649. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Tree Frog Tripler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3491.

(b) The "play symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
	(0

(continued)

Kansas Register _

35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of a coin	WIN
Symbol of a pot of gold	WIN\$50
Symbol of a frog	TPL
Prize Symbols	Captions
FREE	TICKET
10.00	TEN\$
15.00	FIFTEEN
20.00	TWENTY

10.00	TEN\$
$15.^{00}$	FIFTEEN
20. ⁰⁰	TWENTY
25. ⁰⁰	TWEN-FIV
50. ⁰⁰	FIFTY
75. ⁰⁰	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$2500	TWF-HUN
\$75000	75-THOU

(c) For this game, a play/prize symbol shall appear in 65 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Tree Frog Tripler" is a key number match game with an instant win feature, a \$50 instant win feature, and a tripler feature. A player will remove the scratch-off material covering the key number match play area to reveal five "FROG NUMBERS" and 30 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "FROG NUMBERS," the player wins the prize shown below that number. If a player reveals a "COIN" symbol, the player wins the prize shown automatically. If a player reveals a "POT OF GOLD" symbol, the player wins triple the prize shown below that number.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 275,010 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 275,010 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

titis game shan be as i	Prize	Expected Number of Prizes in Game	Expected Value in Game	08 09 10
Free Ticket	Free Ticket	27,500	\$0	11

\$10	\$10	32,060	320,600
\$15	\$15	14,660	219,900
\$20	\$20	5,590	111,800
\$10 + \$10	\$20	5,590	111,800
\$25	\$25	3,650	91,250
\$10 + \$15	\$25	3,650	91,250
\$50	\$50	4,300	215,000
\$10 TPL + \$20	\$50	1,380	69,000
\$75	\$75	200	15,000
\$25 TPL	\$75	450	33,750
\$50 + \$15 + \$10	\$75	200	15,000
\$10 TPL + \$20 + \$25	\$75	500	37,500
\$100	\$100	130	13,000
\$20 TPL + \$25 + \$15	\$100	200	20,000
(\$15 x 4) + (\$10 x 4)	\$100	150	15,000
(\$50 x 2)	\$100	130	13,000
(\$10 x 10)	\$100	150	15,000
\$500	\$500	17	8,500
\$75 TPL + (\$50 x 4) +			
(\$20 x 3) + \$15	\$500	25	12,500
$(\$25 \times 15) + \$15 \times 5) +$	*=00		
(\$10 x 5)	\$500	23	11,500
$(\$10 \times 19) + (\$25 \times 7) + \$75 + (\$20 \times 2)$	¢500	22	11 500
(\$20 x 3)	\$500	23	11,500
\$100 TPL + (\$50 x 3) + (\$25 x 2)	\$500	25	12,500
\$1,000	\$1,000	4	4,000
$($75 \times 3) + $500 + ($25 \times 7) +$	\$1,000	Ŧ	4,000
\$100	\$1,000	4	4,000
(\$500 x 2)	\$1,000	4	4,000
$(\$10 \times 7) + (\$20 \times 9) +$,,		,
(\$25 x 6) + (\$50 x 4) +			
(\$100 x 4)	\$1,000	4	4,000
\$2,500	\$2,500	2	5,000
\$1,000 + (\$100 x 10) +			
(\$50 x 10)	\$2,500	2	5,000
\$75,000	\$75,000	3	225,000
Player Loyalty Program		0	17,325
TOTAL		100,626	\$1,732,675

(j) The odds of winning a prize in this game are approximately one in 2.73. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3492. "Tiger Pride" instant ticket lottery game number 771. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Tiger Pride." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3492.

(b) The "play symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN

12	TWLV
13	THRN
13	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
23	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THREEK
36	THRIV
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of a coin	WIN
Symbol of a pot of gold	DBL
Symbol of a tiger	TPL
MAYBE NEXT TIME	
GOOD LUCK	
GOOD LOCK	
Prizo Symbols	Cantions
Prize Symbols	Captions
FREE	TICKET
10.00	TEN\$
$15.^{00}$	FIFTEEN
20.00	TWENTY
25. ⁰⁰	TWEN-FIV
50.00	FIFTY
75. ⁰⁰	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$1000 \$2500	TWF-HUN
φ <u>2</u> 500	IWF-HUN

(c) For this game, a play/prize symbol shall appear in 66 play spots within the play area or areas.

75-THOU

\$75000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) The "Tiger Pride" ticket consists of two play areas, a key number match play area and a bonus play area. A player will remove the scratch-off material covering the key number match play area to reveal five "TIGER NUM-BERS" and 30 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "TIGER NUMBERS," the player wins the prize shown below that number. If a player reveals a "COIN" symbol, the player wins the prize shown automatically. If a player reveals a "POT OF GOLD" symbol, the player wins double the prize shown below that number. If a player reveals a "TI-GER" symbol, the player wins triple the prize shown below that number. A player can win up to 30 times in this play area.

In the bonus play area, if the player reveals a prize amount, the player wins that amount instantly. A player can win up to one time in this play area.

(g) Each ticket in this game may win up to 31 times.

(h) Approximately 275,010 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 275,010 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Europeted

			Expected Number of Prizes in	Expected Value
	Bonus	Prize	Game	in Game
Free Ticket		Free Ticket	27,000	\$0
\$10		\$10	22,900	229,000
	\$10	\$10	9,160	91,600
\$15		\$15	9,150	137,250
	\$15	\$15	7,330	109,950
\$20		\$20	2,450	49,000
	\$20	\$20	1,830	36,600
\$10 DBL		\$20	3,660	73,200
\$10	\$10	\$20	4,100	82,000
\$25		\$25	2,750	68,750
	\$25	\$25	1,930	48,250
\$10 + \$15		\$25	4,650	116,250
\$50		\$50	400	20,000
	\$50	\$50	230	11,500
\$10 TPL + \$20		\$50	730	36,500
(\$10 x 4)	\$10	\$50	650	32,500
\$25 DBL		\$50	775	38,750
(\$10 x 3)	\$20	\$50	650	32,500
\$75		\$75	300	22,500
\$25 TPL		\$75	450	33,750
\$25 DBL + \$15 + \$10		\$75	450	33,750
(\$10 x 6)	\$15	\$75	300	22,500
\$100		\$100	100	10,000
	\$100	\$100	100	10,000
\$20 TPL + \$25 + \$15		\$100	150	15,000
(\$15 x 4) + (\$10 x 4)		\$100	150	15,000
\$50 DBL		\$100	150	15,000
(\$10 x 10)		\$100	150	15,000
\$500		\$500	20	10,000
\$75 TPL + (\$50 x 3) +				
(\$20 x 3) + \$15	\$50	\$500	25	12,500
				(continued)

(\$25 x 15) + (\$15 x 5) +				
(\$10 x 5)		\$500	20	10,000
$(\$10 \times 19) + (\$25 \times 7) +$		4000		
(\$20 x 3)	\$75	\$500	20	10,000
\$100 TPL + (\$50 x 3) +	1 -	1		-,
\$25 DBL		\$500	30	15,000
\$1,000		\$1,000	4	4,000
(\$75 x 3) + \$500 +		. ,		,
(\$25 x 6) + \$100	\$25	\$1,000	4	4,000
\$500 DBL		\$1,000	6	6,000
(\$10 x 7) (\$20 x 9) +				
$(\$25 \times 6) + (\$50 \times 6) +$				
(\$100 x 2)	\$100	\$1,000	6	6,000
\$2,500		\$2,500	2	5,000
\$1,000 + (\$100 x 10) +				
(\$50 x 10)		\$2,500	2	5,000
\$75,000		\$75,000	3	225,000
Player Loyalty Program			0	17,360
TOTAL			102,787	\$1,735,960
				, ,,

(j) The odds of winning a prize in this game are approximately one in 2.68. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3493. "\$100,000 Large" instant ticket lottery game number 737. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$100,000 Large." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3493.

(b) The "play symbols" and "captions" for this game are as follows:

ay Symbols	Captions			
	—			
1	ONE			
2	TWO			
3	THR			
4	FOR			
5	FIV			
6	SIX			
7	SVN			
8	EGT			
9	NIN			
10	TEN			
11	ELEVN			
12	TWELV			
13	THRTN			
14	FORTN			
15	FIFTN			
16	SIXTN			
17	SENTN			
18	EGHTN			
19	NINTN			
20	TWNTY			
21	TWYON			
22	TWYTW			
23	TWYTR			
24	TWYFR			
25	TWYFV			
26	TWYSX			
27	TWYSV			
28	TWYET			
-				

29	TWYNI
30	THRTY
31	THYON
32	THYTW
33	THYTR
34	THYFR
35	THYFIV
36	THYSIX
37	THYSV
38	THYET
39	THYNI
40	FORTY
41	FRYON
42	FRYTW
43	FRYTR
44	FRYFR
45	FRYFIV
46	FRYSX
47	FRYSV
48	FRYET
49	FRYNI
50	FIFTY
Symbol of a double moneybag	WIN2
Symbol of a \$100 bill	WIN\$100
Prize Symbols	Captions
\$10.00	TEN\$
\$15 ^{.00}	FIFTN\$
\$20 ^{.00}	TWENTY
¢ 40.00	FODTV

Prize Symbols	Captions
\$10.00	TEN\$
\$15 ^{.00}	FIFTN\$
\$20.00	TWENTY
\$40.00	FORTY
\$50 ^{.00}	FIFTY
\$75 ^{.00}	SVTFIV
\$100	ONEHUN
\$200	TWOHUN
\$500	FIVHUN
\$1,000	ONETHO
\$10,000	10-THOU
\$100,000	100-THOU

(c) For this game, a play/prize symbol shall appear in 66 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) The "\$100,000 Large" ticket is a key number match game with a doubler feature and an instant win feature. A player will remove the scratch-off material to reveal six "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUM-BERS." If a player matches any of the "YOUR NUM-BERS." If a player matches any of the "YOUR NUM-BERS." to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a "DOUBLE MONEYBAG" symbol, the player wins double the prize shown below that symbol. If a player reveals a "\$100 BILL" symbol, the player wins \$100 for that symbol automatically.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 215,010 tickets shall be ordered ini-

P1

Regulations

tially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$10 (moneybag)	\$20	14,334	\$286,680
\$20	\$20	14,334	286,680
(\$10 x 4)	\$40	14,334	573,360
\$20 (moneybag)	\$40	7,167	286,680
\$40	\$40	7,167	286,680
\$20 (moneybag) + \$10	\$50	1,792	89,600
(\$10 x 5)	\$50	1,792	89,600
\$10 + (\$20 x 2)	\$50	1,792	89,600
\$50	\$50	1,792	89,600
(\$20 x 3) + \$15	\$75	896	67,200
(\$15 x 5)	\$75	896	67,200
(\$10 (moneybag) x 3) + \$15	\$75	896	67,200
\$75	\$75	896	67,200
(\$20 (moneybag) x 2) + \$10 (moneybag)	\$100	301	30,100
(\$10 x 10)	\$100	287	28,700
\$50 (moneybag)	\$100	301	30,100
\$100	\$100	448	44,800
\$75 (moneybag) + \$50	\$200	179	35,800
(\$20 x 10)	\$200	90	18,000
\$200	\$200	90	18,000
(\$50 (moneybag) x 5)	\$500	108	54,000
(\$20 x 20) + (\$10 x 10)	\$500	64	32,000
\$500	\$500	54	27,000
\$500 (moneybag)	\$1,000	11	11,000
(\$50 x 10) + (\$40 x 5) +			
(\$20 x 15)	\$1,000	11	11,000
\$1,000	\$1,000	11	11,000
(\$1,000 (moneybag) x 5)	\$10,000	3	30,000
\$10,000	\$10,000	3	30,000
(\$10,000 x 10)	\$100,000	1	100,000
\$100,000	\$100,000	2	200,000
Player Loyalty Program		1	38,500
TOTAL		70,053	\$3,097,280

(j) The odds of winning a prize in this game are approximately one in 3.07. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3494. "20X The Cash" instant ticket lottery game number 730. (a) The Kansas lottery may conduct an instant winner lottery game entitled "20X The Cash." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3494.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN

8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
5X (outlined)	WIN5X
10X (outlined)	WIN10X
20X (outlined)	WIN20X
Symbol of a wishbone	WISHBON
Symbol of a ladybug	LADYBUG
Symbol of a four-leaf clover	CLOVER
Symbol of a rabbit's foot	FOOT
Symbol of a pot of gold	POTGLD
Symbol of a rainbow	RAINBOW
Symbol of a stack of cash	WIN
Prize Symbols	Captions
FREE	\$5 TICKET
\$5.00	FIVE\$
\$10 ^{.00}	TEN\$
¢ ? 0.00	TWENTY

<i>ф</i> О	ГІУЦФ
\$10.00	TEN\$
\$20.00	TWENTY
\$25.00	TWEN-FIV
\$40.00	FORTY
\$50.00	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$1,000	ONE-THO
\$25,000	TWNFVTHO

(c) For this game, a play/prize symbol shall appear in 47 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

Sy

\$5 (10X) + \$10 (5X) +

+ (\$50 x 2)

(f) In "20X The Cash," the player will scratch the play area to reveal four "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "5X" symbol, the player wins five times the prize shown. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown.

In the bonus play area, if a player reveals a "STACK OF CASH" symbol in any of the three bonus games, the player wins the prize shown for that game.

(g) Each ticket in this game may win up to 23 times.

(h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Expected Number of Prizes in Game	Expected Value in Game	l S S J
Free Ticket or		Free Ticket	62,500	\$0	J
\$5		\$5	75,000	375,000	
\$10 or	\$10	\$10	12,500	125,000	Ę
(\$5 x 2)		\$10	37,500	375,000	ĉ
\$20		\$20	6,250	125,000]
(\$5 x 2)	\$10	\$20	15,625	312,500	S
\$25 or	\$25	\$25	3,125	78,125	
\$50 or	\$50	\$50	500	25,000	t
5(5X) + 10 + 5	\$10	\$50	5,000	250,000	
(¢E - · 2)	\$10 +	¢E0	2 750	107 500	
(\$5 x 3)	\$25	\$50 ¢50	3,750	187,500	
\$5 (10X)		\$50 ¢100	3,250	162,500	
\$100 \$5 (10X) + \$10 (5X)		\$100 \$100	10	1,000	
\$5 (10X) + \$10 (5X)		\$100 \$100	100	10,000	
\$10 (10X)		\$100 \$100	50 50	5,000 5,000	
\$5 (20X)	¢10 .	\$100	50	5,000	
(\$5 x 9) + (\$10 x 2)	\$10 + \$25 \$10 +	\$100	460	46,000	
(\$5 x 3)	\$25 + \$50	\$100	250	25,000	
$(\$20 \times 2) + (\$5 \times 2) + $ \$15	\$10 + \$25	\$100	200	20,000	
\$10 (5X) + (\$5 x 4) + (\$10 x 2)	\$10	\$100	125	12,500	
(\$10 x 2) \$500	φ10	\$500	125	2,500	
$(\$10 \times 3) + (\$15 \times 4) + (\$40 \times 5) + \$50 + (\$20 \times 5)$	\$10 + \$50	\$500	5	2,500	
\$20 (5X) + \$10 (10X) + \$5 (20X) + (\$10 x 10) + \$25 \$10 (5X) + \$50 +	\$25 + \$50	\$500	5	2,500	
\$10(3X) + \$50 + \$10(10X) + \$10(20X) + (\$5 x 8)	\$10 + \$50	\$500	5	2,500	
\$50 (10X)		\$500	5	2,500	
\$50 (5X) + (\$10 x 4) + (\$20 x 5) + \$5 (20X)	\$10	\$500	5	2,500	

				
5 (10X) + \$10 (5X) + \$20 (5X) + (\$20 x 5) + (\$10 x 10)				
+ (\$50 x 2)		\$500	5	2,500
20 (10X) + (\$20 x 10) +	\$10 + \$25 +			
\$10 + \$5	\$50	\$500	5	2,500

	\$10 +			
\$20 (10X) + (\$20 x 10) +	\$25 +			
\$10 + \$5	\$50	\$500	5	2,500
\$1,000		\$1,000	2	2,000
	\$10 +			
(\$50 x 16) + (\$5 x 3) +	\$25 +			
\$100	\$50	\$1,000	6	6,000
\$10 (20X) + \$50 (10X) +				
(\$10 (5X) x 6)		\$1,000	2	2,000
\$50 (10X) + \$20 (10X) +				
(\$10 (10X) x 2 +	\$25 +			
\$10 + (\$5 x 3)	\$50	\$1,000	4	4,000
\$20 (20X) + \$100 +				
(\$50 x 4) +	\$10 +			
$(\$20 \times 8) +$	\$25 +			
(\$10 x 5) + \$5	\$50	\$1,000	6	6,000
(\$100 (20X) x 10) +				
(\$100 (10X) x 5)		\$25,000	3	75,000
\$25,000		\$25,000	1	25,000
Player Loyalty Program			0	23,000
TOTAL			226,309	\$2,303,125

(j) The odds of winning a prize in this game are approximately one in 3.31. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and K.S.A. 2016 Supp. 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3495. "50X The Cash" instant ticket lottery game number 726. (a) The Kansas lottery may conduct an instant winner lottery game entitled "50X The Cash." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3495.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV

ç Sym Sy

Sy

Kansas Register

26 27	TWSIX TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
5X (outlined)	WIN5X
10X (outlined)	WIN10X
20X (outlined)	WIN20X
50X (outlined)	WIN50X
Symbol of a wishbone	WISHBON
Symbol of a ladybug	LADYBUG
ymbol of a four-leaf clover	CLOVER
Symbol of a rabbit's foot	FOOT
Symbol of a pot of gold	POTGLD
Symbol of a rainbow	RAINBOW
Symbol of a stack of cash	WIN
Prize Symbols	Captions
FREE	\$10 TICKET
\$10.00	TEN\$
\$15.00	FIFTN\$
\$20 ^{.00}	TWENTY
\$25.00	TWEN-FIV
\$30.00	THIRTY
\$50.00	FIFTY
\$75 ^{.00}	SEV-FIV
\$100	HUNDRED
\$200	TWO-HUN
\$500	FIV-HUN
\$1,000	ONE-THO
\$75,000	SVNFVTHO

(c) For this game, a play/prize symbol shall appear in 58 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) In "50X The Cash," the player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR

In the bonus play area, if a player reveals a "STACK OF CASH" symbol in any of the three bonus games, the player wins the prize shown for that game.

(g) Each ticket in this game may win up to 28 times.

(h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$10 Ticket or		Free Ticket	45,000	\$0
\$10		\$10	45,000	450,000
\$15		\$15	7,500	112,500
\$20		\$20	3,750	75,000
(\$10 x 2)		\$20	11,250	225,000
\$25 or	\$25	\$25	3,750	93,750
\$15 + \$10	4-0	\$25	7,500	187,500
\$30		\$30	600	18,000
(\$10 x 3)		\$30	6,000	180,000
(\$15 x 2)		\$30	2,400	72,000
\$75		\$75	150	11,250
\$15 (5X)		\$75	600	45,000
\$10 (5X)	\$25	\$75	2,100	157,500
, - (-)	\$25 +		,	- ,
	\$50	\$75	3,150	236,250
\$100 or	\$100	\$100	150	15,000
\$20 (5X)		\$100	450	45,000
\$10 (10X)		\$100	600	60,000
\$10 (5X) + \$10 + \$15	\$25	\$100	900	90,000
\$15 (5X) + \$10 + \$15		\$100	900	90,000
\$200		\$200	60	12,000
\$30 (5X)	\$50	\$200	90	18,000
\$10 (5X) + \$10 (10X) + (\$20 x 2) + \$10		\$200	237	47,400
$(\phi 20 \times 2) + \phi 10$	\$25 +	\$200	237	47,400
	\$50 +			
\$25	\$100	\$200	600	120,000
(\$10 x 10) + \$30 + \$20	\$50	\$200	300	60,000
(\$10 (5X) x 2) +				
(\$10 x 10)		\$200	300	60,000
\$10 (20X)		\$200	180	36,000
\$500		\$500	3	1,500
\$10 (50X)		\$500	6	3,000
\$15 (10X) + \$20				
(5X) + \$10 (20X)	\$50	\$500	12	6,000
\$15 (5X) + \$10 (10X) +	\$25 +	*=00	10	
\$10 (20X) + (\$25 x 2)	\$50	\$500	18	9,000
	\$25 + \$50 +			
(\$10 x 23) + \$20 + \$75	\$50 + \$100	\$500	36	18,000
\$1,000	ψισσ	\$1,000	3	3,000
ψ1/000		ψιμουσ	5	(continued)
				(commueu)

Kansas Register

Sy

\$10 (50X) + \$10 (20X) +				
\$15 (10X) + \$10 (5X)	\$100	\$1,000	6	6,000
\$20 (50X)		\$1,000	3	3,000
\$100 (5X) + (\$10 x 20) + \$15 (5X) + (\$20 x 2) +	\$25 + \$50 +			
\$10	\$100	\$1,000	15	15,000
\$75,000		\$75,000	1	75,000
(\$100 (50X) x 6) + (\$1,000 (10X) x 4) + (\$20 (5X) x 5) +				
	\$25 +			
(\$500 x 8) + \$50 (5X) + \$15 (5X)	\$50 + \$100	\$75,000	2	150,000
Player Loyalty Program			0	28,300
TOTAL			143,622	\$2,834,950

(j) The odds of winning a prize in this game are approximately one in 3.13. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and K.S.A. 2016 Supp. 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3496. "100X The Cash" instant ticket lottery game number 727. (a) The Kansas lottery may conduct an instant winner lottery game entitled "100X The Cash." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3496.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR

35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
46	FRSIX
47	FRSEV
48	FREGT
49	FRNIN
5X (outlined)	WIN5X
10X (outlined)	WIN10X
20X (outlined	WIN20X
50X (outlined)	WIN50X
100X (outlined)	WIN100X
Symbol of a wishbone	WISHBON
Symbol of a ladybug	LADYBUG
Symbol of a four-leaf clover	CLOVER
Symbol of a rabbit's foot	FOOT
Symbol of a pot of gold	POTGLD
Symbol of a rainbow	RAINBOW
Symbol of a stack of cash	WIN
Prize Symbols	Captions
FREE	\$20 TICKET
\$5.00	FIVE\$
\$10 ^{.00}	TEN\$
\$15 ^{.00}	FIFTN\$
\$20 ^{.00}	TWENTY
\$30.00	THIRTY
\$50 ^{.00}	FIFTY
\$100	HUNDRED
\$200	TWO-HUN

(c) For this game, a play/prize symbol shall appear in 69 play spots within the play area or areas.

FIV-HUN

ONE-THO

TEN-THO

HUNTHO

\$500

\$1,000

\$10,000

\$100,000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) In "100X The Cash," the player will scratch the play area to reveal six "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "5X" symbol, the player wins five times the prize shown. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown. If the player reveals a "50X" symbol, the player wins 50 times the prize shown. If the player reveals a "100X" symbol, the player wins 100 times the prize shown.

In the bonus play area, if a player reveals a "STACK OF CASH" symbol in any of the three bonus games, the player wins the prize shown for that game.

(g) Each ticket in this game may win up to 33 times.

(h) Approximately 360,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Expected Number of Prizes in	Expected Value in Game
E #20 E 1 .	Donus		Game	
Free \$20 Ticket		Free Ticket	24,000	\$0
\$20 \$20		\$20 #20	24,000	480,000
\$30		\$30	1,200	36,000
(\$10 x 3)		\$30	12,000	360,000
\$20 + \$10	* =0	\$30	10,800	324,000
\$50 or	\$50	\$50	600	30,000
\$10 (5X)		\$50 #50	12,000	600,000
(\$10 x 5)		\$50	6,000	300,000
$($20 \times 2) + 10	****	\$50	5,400	270,000
\$100 or	\$100	\$100	504	50,400
\$20 (5X)		\$100	1,680	168,000
\$10 (10X)		\$100	1,680	168,000
(\$10 x 5)	\$50	\$100	2,000	200,000
(\$5 x 10)	\$50	\$100	3,400	340,000
\$200 or	\$200	\$200	120	24,000
(#10 E)	\$50 +	¢ 2 00	100	06.000
(\$10 x 5)	\$100	\$200	480	96,000
\$10 (10X) + (\$20 x 2) + \$10	\$50	\$200	480	96,000
(\$10 x 10) + \$20 (5X)	φ50	\$200 \$200	480 480	96,000
$(\$10 \times 10) + \$20 (3X)$ $(\$10 \times 10) + (\$30 \times 2) +$		\$200	400	90,000
$(\$10 \times 10) + (\$30 \times 2) + (\$20 \times 2)$		\$200	480	96,000
(420×2) \$10 (5X) + (\$10 x 10)	\$50	\$200	480	96,000
$(\$5 \times 2) + (\$10 \times 2) +$	\$50 +	φ200	100	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
\$20	\$100	\$200	480	96,000
\$500		\$500	30	15,000
\$10 (50X)		\$500	90	45,000
\$15 (10X) + \$20 (5X) +				
\$10 (20X)	\$50	\$500	120	60,000
	\$50 +			
	\$100 +			
\$10 (5X) + \$10 (10X)	\$200	\$500	120	60,000
$(\$10 \times 10) +$				
(\$20 x 10) + (\$10 (5X) x 2)	\$100	\$500	240	120,000
\$1,000	\$100	\$1,000	12	120,000
\$10 (100 X)		\$1,000	12	12,000
\$10 (100 X) \$20 (50X)		\$1,000	10	10,000
\$20 (JUX)	\$100 +		10	10,000
\$100 (5X) + (\$10 x 20)	\$200	\$1,000	40	40,000
\$10,000	\$2 00	\$10,000	2	20,000
(\$20 (50X) x 4) +		\$10,000	-	20,000
$($100 \times 20) +$				
(\$100 (10X) x 2) +				
\$10 (100X) +	\$50 +			
$(\$50 (5X) \times 2) + $	\$100 +			40,000
\$30 (5X)	\$200	\$10,000	4	40,000

\$100,000		\$100,000	1	100,000
(\$100 (100X) x 5) +				
(\$100 (50X) x 5) +				
(\$100 (10X) x 10) +				
(\$500 (10X) x 2) +				
(\$500 x 5) +	\$50 +			
(\$1,000 x 2) +	\$100 +			
\$30 (5X)	\$200	\$100,000	2	200,000
Player Loyalty Program			0	47,000
TOTAL			108,945	\$4,705,400

(j) The odds of winning a prize in this game are approximately one in 3.30. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and K.S.A. 2016 Supp. 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3497. "Wolf Run" instant ticket lottery game number 751. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Wolf Run." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3497.

(b) The "play and prize symbols" and "captions" for this game are as follows:

inis game are as follows:	
Play Symbols	Captions
Symbol of an apple	APPLE
Symbol of a banana	BANANA
Symbol of a gold bar	BAR
Symbol of a bell	BELL
Symbol of a pair of binoculars	BINOC
Symbol of a boot	BOOT
Symbol of a bow	BOW
Symbol of a piece of candy	CANDY
Symbol of a stack of cards	CARDS
Symbol of a bunch of cherries	CHRY
Symbol of a chest	CHEST
Symbol of a poker chip	CHIP
Symbol of a club	CLUB
Symbol of some coins	COINS
Symbol of a crown	CRN
Symbol of a cup	CUP
Symbol of a diamond	DIAMOND
Symbol of a dice	DICE
Symbol of fire	FIRE
Symbol of fireworks	FIREWKS
Symbol of a gem stone	GEM
Symbol of a gift	GIFT
Symbol of a bunch of grapes	GRAPES
Symbol of a heart	HEART
Symbol of a joker	JOKER
Symbol of a key	KEY
Symbol of a lemon	LEMON
Symbol of a lightning bolt	LIGHTN
Symbol of a drum	DRUM
Symbol of the moon	MOON
Symbol of a necklace	NECKLACE
Symbol of an orange slice	ORANGE
Symbol of a palace	PALACE
Symbol of a peach	PEACH
Symbol of a pear	PEAR
Symbol of a pineapple	PINEAPL
	(continued)

Symbol of a paw print	PRINT
Symbol of a purse	PURSE
Symbol of a ring	RING
Symbol of a 7 (outlined)	SEVEN
Symbol of a horseshoe	SHOE
Symbol of a spade	SPADE
Symbol of a star	STAR
Symbol of a strawberry	STRBERY
Symbol of the sun	SUN
Symbol of a vault	VAULT
Symbol of a piece of watermelon	WTRMLN
\$\$	WIN2X
Symbol of a wolf	WIN5X
Symbol of a wishbone	WISHBON
Symbol of a ladybug	LADYBUG
Symbol of a four-leaf clover	CLOVER
Symbol of a rabbit's foot	FOOT
Symbol of a pot of gold	POTGLD
Symbol of a rainbow	RAINBOW
Symbol of a stack of cash	WIN\$50
Symbol of a moneybag	WIN\$100
Symbol of a gold bar	WIN\$200
Prize Symbols	Captions
FREE	\$20 TICKET
\$5 ^{.00}	FIVE\$
\$10 ^{.00}	TEN\$
\$20 ^{.00}	TWENTY
\$30.00	THIRTY
\$50 ^{.00}	FIFTY
\$100	HUNDRED
\$200	TWO-HUN
\$500	FIV-HUN
\$1,000	ONE-THO
\$10,000	TEN-THO

(c) For this game, a play/prize symbol shall appear in 123 play spots within the play area or areas.

HUNTHO

\$100,000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) In "Wolf Run," the player will scratch the play area to reveal 30 "SPINS." Each "SPIN" consists of three play symbols and a prize amount. If a player reveals three like play symbols in any "SPIN" across, the player wins the prize amount shown for that "SPIN." If a player matches two like play symbols and a "\$\$" symbol is revealed, the player wins double the prize amount shown for that "SPIN." If a player reveals three "WOLF" play symbols, the player wins five times the prize amount shown for that "SPIN."

The player will scratch the three bonus play areas to reveal a play symbol in each bonus game. In the "BONUS \$50" game, if a player reveals a "STACK OF CASH" symbol, the player wins \$50 instantly. In the "BONUS \$100" game, if a player reveals a "MONEYBAG" symbol, the player wins \$100 instantly. In the "BONUS \$200" game, if a player reveals a "GOLD BAR" symbol, the player (g) Each ticket in this game may win up to 33 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

uno guine onun de	us ione			
	Bonus	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$20 Ticket		Free Ticket	20,000	\$0
\$20		\$20	20,000	400,000
\$30		\$30	1,000	30,000
\$10 (DBL) + \$10		\$30	10,000	300,000
\$20 + \$10		\$30	9,000	270,000
\$50 or	\$50	\$50	500	25,000
\$10 (5X)	φυυ	\$50	10,000	500,000
(\$10 x 5)		\$50	5,000	250,000
$(\$20 \times 2) + \10		\$50	4,500	225,000
\$100 or	\$100	\$100	400	40,000
\$20 (5X)	φισσ	\$100	1,400	140,000
(\$10 (DBL) x 5)		\$100	1,618	161,800
(\$10 x 5)	\$50	\$100	2,000	200,000
(\$5 x 10)	\$50	\$100	2,800	280,000
\$200 or	\$200	\$200	100	20,000
φ 2 00 01	\$50 +	\$200	100	20,000
(\$10 x 5)	\$100	\$200	400	80,000
(\$10 (DBL) x 5) + \$20				,
(DBL) + \$10	\$50	\$200	400	80,000
(\$10 x 10) + \$20 (5X)		\$200	400	80,000
(\$10 x 10) + \$30				
(DBL) + \$20 (DBL)		\$200	400	80,000
\$10 (5X) + (\$10 x 10)	\$50	\$200	400	80,000
\$5 (DBL) + \$10	\$50 +			
(DBL) + \$20	\$100	\$200	400	80,000
\$500		\$500	20	10,000
\$50 (5X) +	¢E0	¢500	20	40,000
(\$20 (DBL) x 5) \$30 (5X) + \$20 (5X) +	\$50	\$500	80	40,000
(5X) + 520(5X) + 550(DBL) +				
(\$10 x 10)	\$50	\$500	100	50,000
	\$50 +			,
\$10 (5X) +	\$100 +			
(\$10 (DBL) x 5)	\$200	\$500	100	50,000
(\$10 x 10) +				
$(\$20 \times 10) +$	¢100	¢500	200	100.000
(\$10 (5X) x 2)	\$100	\$500 \$1,000	200	100,000
\$1,000 (\$50 (DPL) x 2) +		\$1,000	4	4,000
(\$50 (DBL) x 2) + \$20 (5X) +	\$50 +			
(\$5 (DBL) x 25) +	\$100 +			
(\$10 (5X) x 2)	\$200	\$1,000	16	16,000
(\$100 (DBL) x 2) +				
(\$20 (5X) x 2) +				
$($5 (DBL) \times 10) +$	\$50 +	#1 000	17	1 < 000
(\$10 x 5)	\$200	\$1,000	16	16,000
\$100 (5X) + (\$10 x 20)	\$100 +		24	24.000
\$10,000	\$200	\$1,000 \$10,000	24	24,000 20,000
		\$10,000	2	20,000
(\$100 (5X) x 10) + (\$100 (DBL) x 10) +				
$(\$200 (5X) \times 2) +$	\$50 +			
(\$50 (DBL x 5) +	\$100 +			
(\$50 x 3)	\$200	\$10,000	4	40,000

Kansas Register

\$100,000	\$100,000	1	100,000
(\$500 (DBL) x 10) + (\$1,000 (5X) x 18)	\$100,000	2	200,000
Player Loyalty Program		0	40,500
TOTAL		91,287	\$4,032,300

(j) The odds of winning a prize in this game are approximately one in 3.29. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and K.S.A. 2016 Supp. 74-8720; effective, T-111-8-9-17, June 14, 2017.)

111-4-3498. Country Stampede second-chance drawing. (a) The Kansas lottery may conduct a second-chance drawing in conjunction with the Country Stampede event giving away five (5) \$500 Bass Pro Shops gift cards. The drawing will be conducted at 12:00 p.m. on June 27, 2107, and the winners will be announced at 12:00 p.m. on June 30, 2017.

(b) To enter the drawing, a player shall purchase \$10 of any Kansas lottery ticket(s) in a single purchase at the Kansas lottery's selling location at the Country Stampede on June 22, 23, and 24, 2017, beginning at 11:30 a.m. through 9:30 p.m. each day. For each qualifying purchase, the player will be given an official entry form by the representative selling the ticket(s). A player shall complete the entry form in a legible manner and deposit the entry form into a receptacle designated for the purpose of this drawing no later than 9:30 p.m. on June 24, 2017. Only one name shall appear on an eligible entry.

(c) After the close of entries on June 24, 2017, the entry forms shall be transported by Kansas lottery security officials, or a security designee, in a sealed container from the selling location at the Country Stampede to Kansas lottery headquarters and secured until the drawing occurs.

(d) At the designated time and date, the drawing shall be conducted by a drawing official designated by the executive director of the Kansas lottery in accordance with the Kansas lottery's established drawing procedures.

Five entries shall be drawn. The person whose name appears on each valid entry drawn shall be the winner of a prize described in these rules. After five entries have been drawn and verified as valid, five more valid entries will be drawn, one at a time, which entries drawn will serve as alternate entries. The alternate entries will be marked in the order drawn, 1A, 2A, 3A, 4A, and 5A.

Winners shall be contacted by phone and/or in person and also in writing as soon as possible following the drawing. Each winner shall be informed that he or she has been selected as a winner and shall be mailed a claim form.

Each winner shall then have until 5:00 p.m. on the fourteenth day following the mailing of a claim form to the winner to present the fully-executed claim form to lottery headquarters. If the fourteenth day following the mailing of a claim form to the winner falls on a weekend or holiday, the fourteenth day shall be extended to the next business day. If the prize winner cannot be located or is declared ineligible, or fails to timely present a fully-executed claim form to lottery headquarters, the prize will be awarded to the next alternate ticket selected in the order drawn. An alternate winner shall have until 5:00 p.m. on the fourteenth day following mailing of a claim

form to an alternate winner to present the fully-executed claim form to lottery headquarters. If the fourteenth day following the mailing of a claim form to an alternate winner falls on a weekend or holiday, the fourteenth day shall be extended to the next business day. If an alternate prize winner cannot be located or is declared ineligible, or fails to timely present a fully-executed claim form to lottery headquarters, the prize will be awarded to the next alternate ticket selected in the order drawn. The alternate winner process shall be repeated until the prize is properly claimed or until such time as no alternate winners remain, whichever occurs first.

(e) There is no limit on the number of entries a person may make, but a person may only win one time.

(f) Eligible entrants in the "Country Stampede Drawing" must be 18 years of age or older.

(g) Completing the information on the entry form and entering the drawing constitutes authorization to publicly identify the persons whose entries are drawn.

(h) The Kansas lottery shall not be responsible for any lost, destroyed, mutilated, illegible, or altered entries into the "Country Stampede Drawing."

(i) Rules applicable to this drawing are contained in K.A.R. 111-4-3498, K.A.R. 111-3-1 *et seq.*, and K.A.R. 111-6-1 *et seq.* (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-8-9-17, June 14, 2017.)

Article 19. – SPECIFIC PLAYER LOYALTY CLUB RULES

111-19-20. Kansas Hold'Em Collect 'N Win. (a) The Kansas lottery may conduct a "Kansas Hold'Em Collect 'N Win" promotion in which 30 Kansas lottery players will win prize packages which include the opportunity to participate in the "30th Birthday Bash Poker Tournament" at the Kansas Star Casino in Mulvane, Kansas, on November 18, 2017. Three drawings will be conducted during the promotion selecting 10 winners in each drawing, for a total of 30 winners. The drawing winners will participate in the poker tournament for a chance to win a first-place prize of \$2,500, a second-place prize of \$1,500, and a third-place prize of \$1,000.

(b) To enter the drawings, a player shall purchase a Kansas lottery Kansas Hold'Em online \$4 or more single ticket beginning at 5:00 a.m. on August 12, 2017, through 2:00 a.m. on October 23, 2017.

(c) The entry ticket may be a winning or non-winning ticket.

(d) Players may submit entries into the drawings beginning at 5:00 a.m. on August 13, 2017, through 12:00 p.m. on October 23, 2017. Entries submitted into any drawing which are not selected as winners shall remain eligible to win a prize in any succeeding drawing during the promotion. Entries submitted into any drawing which are selected as alternate winners, shall remain eligible to win a prize in any succeeding drawing during the promotion providing the alternate winner did not win a prize in a previous drawing during the promotion.

(e) The first drawing shall be conducted on August 30, 2017, with entry deadline at 12:00 p.m. on August 28, 2017. Winners of the first drawing will be announced on Sep-(continued)

tember 1, 2017. The second drawing shall be conducted on September 27, 2017, with entry deadline at 12:00 p.m. on September 25, 2017. Winners of the second drawing will be announced on September 29, 2017. The third drawing shall be conducted on October 25, 2017, with entry deadline at 12:00 p.m. on October 23, 2017. Winners of the third drawing will be announced on October 27, 2017.

(f) A player shall enter the promotion through the Kansas lottery PlayOn program at www.kslottery. com. The player shall follow the hyperlink specifically developed for the purpose of accessing the "Kansas Hold'Em Collect 'N Win" promotion. The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Alchemy 3 app Kansas Hold'Em Collect 'N Win. To enter using a mobile device, the player will use the QR code printed on the online entry ticket to download an APP and scan the ticket. After the ticket data is entered either manually or scanned using an APP, a random number of symbols will be generated on a player's electronic card. A player must collect six different symbols on an electronic card to receive an entry into the drawing(s). The symbols include an ace, a king, a queen, a jack, a 10, and a diamond. The number of electronic symbols generated during the entry process will be equivalent to each whole dollar value of the purchase price of any \$4 or more entry ticket. For example, a \$4 ticket will generate four electronic symbols. Once the player collects all six different symbols on his or her electronic card, the player will be entered automatically into the drawing. If a symbol is generated that already appears on the player's electronic card, that symbol shall be moved automatically to another electronic card which shall be eligible to collect the remaining symbols. In order to fill an electronic card with symbols, a player must purchase no more than \$21 of qualifying entry tickets.

(g) All entrants into the drawings must be at least 21 years of age. If any person less than 21 years of age enters the drawings, the person shall be disqualified from winning any prize. In the event any person less than 21 years of age is selected as a winner of a prize package during the drawing process, in addition to the foregoing, the next available alternate winner shall become the winner of the prize package.

(h) Ten entrants shall be selected in each drawing who will win prize packages

(i) Each prize package shall entitle the winner the opportunity to play in the "30th Birthday Bash Poker Tournament," a VIP concert package for two on November 18, 2017, hotel accommodations for two persons for the night of November 18, 2017, at the Hampton Inn & Suites located at the Kansas Star Casino in Mulvane, Kansas, \$300 cash, and mandatory state and federal income withholding taxes. Each prize package is valued at approximately \$1,400.

(j) A player may enter the drawing an unlimited number of times, but may win only one prize package in this promotion.

(k) In the event any prize awarded for this drawing is

postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.

(l) Only registered PlayOn members may enter the "Kansas Hold'Em Collect 'N Win" promotion. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.

(m) In the event any prize awarded for these drawings is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.

(n) Odds of winning are dependent upon the number of entries received for the drawing(s).

(o) By entering the promotion, entrant agrees to Play-On terms and conditions.

(p) Rules applicable to this promotion are contained in K.A.R. 111-19-20 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-8-9-17, June 14, 2017.)

111-19-21. KC Chiefs drawing. (a) The Kansas lottery may conduct a "KC Chiefs" drawing awarding eight grand prize packages to players selected as winners. Entries into the drawing will be accepted beginning at 5:00 a.m. on August 1, 2017. Entry deadline is 12:00 p.m. on February 12, 2018. The drawing will be conducted sometime after the entry into the drawing has closed but before 12:00 p.m. on February 15, 2018, at which time the winners will be announced.

(b) The specific ticket eligible for entry into this drawing shall be the \$5 Kansas City Chiefs, game number 698.

(c) A player shall enter the drawing through the Kansas lottery PlayOn program at www.kslottery.com. The player shall follow the hyperlink specifically developed for the purpose of accessing the "KC Chiefs" drawing. The player may enter the required data from the instant ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry into the second-chance drawing.

(d) The Kansas lottery shall award eight grand prize packages to players who entered the "KC Chiefs Drawing." Each prize package shall consist of access to one game in the Penthouse suite during the 2018 Kansas City Chiefs season at Arrowhead Stadium for one winner and one guest, unlimited food and non-alcoholic beverages, a parking pass, overnight hotel accommodations for the night of the game, a pre-game stadium tour for winner and guest, first look tickets for winner and guest, training camp VIP tickets for winner and guest, a gift bag with a \$50 stadium gift card, a Chiefs cheerleader calendar, a Chiefs hat, a Chiefs 2018/2019 yearbook, other lottery and/or Chiefs products selected by the Kansas lottery, and \$300 cash.

(e) The game at which the events included in the grand prize package shall occur will be selected by the winners

in the order in which the winners were drawn. If an alternate winner is used, the order in which the alternate winner was selected as a grand prize winner shall determine the order in which the alternate winner selects the game at which the events included in the grand prize shall occur. Alternate winners shall select their game choice after the grand prize winners have made their selections. Each grand prize is valued at approximately \$10,250.

(f) A player may enter the drawing an unlimited number of times, but may win only one prize package in this promotion.

(g) A player who is selected as a prize winner in the drawing will be sent a claim form via U.S. mail. The winner must return his or her completed claim form, and the claim form must be received by the Kansas lottery within 14 days following the date of the online event drawing. In the event an alternate winner is awarded a prize, the winner must return his or her completed claim form and the claim form must be received by the Kansas lottery within 14 days following the date the alternate winner was sent a claim form via U.S. mail.

(h) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.

(i) Only registered PlayOn members may enter the "KC Chiefs Drawing." PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.

(j) By entering the promotion, entrant agrees to PlayOn terms and conditions.

(k) Rules applicable to this promotion are contained in K.A.R. 111-19-21 and K.A.R. 111-18-1 *et seq*. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-8-9-17, June 14, 2017.)

Article 301. – SPECIFIC LOTTERY FACILITY GAMES AT LOTTERY GAMING FACILITIES

111-301-60. Definitions. The following words and terms, when used in the game of Chase the Flush, shall have the following meanings unless the context clearly indicates otherwise:

(a) "All in bet" or "all in wager" means a wager made by a player after which wager is made the player cannot make any additional wagers and cannot change the wager or wagers previously made during that round of play.

(b) "Ante" or "ante wager" means the first of two initial wagers required to be made prior to any cards being dealt in order to participate in the game.

(c) "Check" means that the player waives the right to place an all in wager but remains in the game.

(d) "Community card" means any of the four cards dealt face up in the center of the table, all of which may be used by each player and the dealer together with his or her own two cards to form the best possible seven-card flush hand.

(e) "Flop" means the first two community cards dealt face up in the area designated for the placement of the four community cards.

(f) "Fold" means the withdrawal of a player from a game by discarding his or her three cards and not making a play wager.

(g) "Flush" means cards of the same suit up to a maximum of seven (7) cards.

(h) "Game" means one complete cycle of play during which all players playing at the table have been dealt a hand, have folded or wagered upon their hand, and have had their winning wagers paid or losing wagers collected.

(i) "Layout" or "table game layout" means the playing surface covering the table at which the game is played, on which surface are printed areas designated for the placement wagers for each player, designated places for the placement of cards as they are dealt, and various other information related to the game.

(j) "Match play coupon" means a coupon issued to a player by Boot Hill Casino and Resort that may be used by a player as a substitute for, or in addition to, a wager made in the game of Chase the Flush if used according to the terms, conditions and restrictions of the coupon.

(k) "Push" means a tie or draw, and occurs if the player's seven-card hand and the dealer's seven-card hand are of equal rank. In a push, the dealer shall not take or pay the player's ante, x-tra bonus, or all in wagers.

(1) "Qualifies" or "qualify" means the dealer's longest flush utilizing the dealer's three cards and the four community cards is comprised of three (3) or more cards with the highest ranking card in the flush being a 9 or higher ranking card.

(m) "Rank" or "ranking" means the relative position of a card or group of cards, with all cards ranking from lowest to highest as follows: 2, 3, 4, 5, 6, 7, 8, 9, 10, jack, queen, king and ace.

(n) "Round of play" or "round" means each level of play beginning with the first player's opportunity to act, and ending with the dealer revealing or distributing cards, except that the last round of the game will end with the dealer paying all winning wagers and collecting all losing wagers of all players remaining in the game.

(o) "Same suit bonus wager" means an optional wager that if played must be made prior to any cards being dealt in the round of play.

(p) "Straight flush" means cards of the same suit in consecutive rank order.

(q) "Stub" means the remaining portion of the deck after all cards in the round of play have been dealt.

(r) "Suit" means one of the four categories of cards: club, diamond, heart, or spade, with no suit being higher in rank than another.

(s) "Turn and river" means, respectively, the last two community cards dealt face up in the area designated for the placement of the four community cards.

(t) "X-tra bonus wager" means the second of two initial wagers required to be made prior to any cards being dealt in order to participate in the round of play. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-7-3-17, May 10, 2017; amended, T-111-8-9-17, June 14, 2017.)

111-301-61. Wagers. (a) All wagers at Chase the Flush shall be made by placing gaming chips or, if applicable, a match play coupon on the appropriate betting *(continued)*

areas of the table layout. A verbal wager accompanied by cash shall not be accepted.

(b) All ante wagers and x-tra bonus wagers shall be placed on the designated betting areas of the layout prior to the dealer dealing the first hand of the game. All ante and x-tra bonus wagers made in a game by a player must be equal in amount and within the wager limits established for that table.

(c) Upon placing an ante wager and x-tra bonus wager, a player may also place an optional same suit bonus wager by placing a wager on the designated wagering area of the layout. The same suit bonus wager is not required to be in the same amount as the ante and x-tra bonus wagers, but must be in an amount within the wager limits established for that table. The outcome of the same suit bonus wager shall have no bearing on any other wager made by the player.

(d) Only players who are seated at the table may place a wager at the game. Once a player has placed a wager and received cards, that player must remain seated until the completion of the game.

(e) A player shall not be permitted to wager on more than one player position at the table. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-7-3-17, May 10, 2017; amended, T-111-8-9-17, June 14, 2017.)

111-301-62. Play and payouts. (a) For the start of play, beginning with the player farthest to the dealer's left and continuing around the table in a clockwise manner, the dealer shall deal three cards at a time face down to each player who has placed an ante wager and x-tra bonus wager.

(b) After the dealing procedures specified above have been completed, each player shall examine his or her cards and replace the cards face down on the layout. Starting with the player farthest to the dealer's left and proceeding in a clockwise manner around the table, each player shall act by either checking or making an all in wager. If the player chooses to make an all in wager, the player must place chips equal to three (3) times the amount of the player's ante wager in the designated area of the layout. If a player checks, the player shall remain in the game and defer his or her decision to place an all in wager to the next wagering opportunity.

(c) After all players have either made an all in wager or checked, the dealer shall deal the flop by placing the next two cards in the deck face up in the area designated on the layout for community cards.

(d) After the flop has been completed, for any player that has not yet made an all in wager and starting with the player farthest to the dealer's left and proceeding in a clockwise manner around the table, each player shall act by either checking or making an all in wager. If the player chooses to make an all in wager, the player must place chips equal to two (2) times the amount of the player's ante wager in the designated area of the layout. If a player checks, the player shall remain in the game and defer his or her decision to place an all in wager to the next wagering opportunity.

(e) After all players have either made an all in wager or checked, the dealer shall deal the turn and river by placing the next two cards in the deck face up in the area designated on the layout for community cards. (f) After the turn and river have been completed, for any player that has not yet made an all in wager and starting with the player farthest to the dealer's left and proceeding in a clockwise manner around the table, each player shall act by either folding or making an all in wager. If the player chooses to make an all in wager, the player must place chips equal to the amount of the player's ante wager in the designated area of the layout. If a player folds the player loses all wagers made.

(g) Once all players have either placed an all in wager or folded, the dealer shall then turn the dealer's three cards face up and announce the longest flush using the dealer's three cards and the four community cards.

(h) If the dealer's hand does not qualify, then:

(1) The ante wager of each player who did not fold is returned to the player;

(2) Each player's hand that beats the dealer's hand is paid for any all in wager and x-tra bonus wager; and,

(3) The dealer shall collect any all in wager and x-tra bonus wager of each player's hand that does not beat the dealer's hand. Even in the event the dealer and player both have non-qualifying hands, to win the player must still have a longer or higher ranking flush than the dealer;

(4) If a player and the dealer's hands tie, any all in wager and x-tra bonus wagers shall be returned to the player;

(5) If the player's hand beats the dealer's hand with four or more cards of the same suit, the player shall be paid for any x-tra bonus wager; and,

(6) If the player's hand beats the dealer's hand with fewer than four cards of the same suit, the x-tra bonus wager is a tie and the player's wager shall be returned to the player.

(i) If the dealer's hand qualifies, then:

(1) For each player who did not fold, starting with the player farthest to the dealer's right and proceeding in a counterclockwise manner around the table, the dealer shall combine each player's three cards with the community cards to determine that player's longest flush. If the dealer and the player both have the same number of cards in their flush, the winning hand is determined by the highest ranking card of the flush in each hand. If the highest ranking card is the same in both hands, the winning hand is determined by the second highest ranking card in each hand. The same rule is applied for each card thereafter until either a winner is determined or there is a tie between the hands;

(2) If the player's hand wins, any all in and ante wagers are paid at odds of one to one;

(3) If the player's hand loses to the dealer's hand, the ante and any all in and x-tra bonus wagers shall be collected by the dealer;

(4) If the player's hand and the dealer's hand tie, the ante and any all in and x-tra bonus wagers shall be returned to the player;

(5) If the player's hand beats the dealer's hand, any x-tra bonus wager by the player shall win and the dealer shall pay the player as follows:

(A) If the player has seven (7) cards of the same suit, the player shall be paid at odds of 250 to one (1);

(B) If the player has six (6) cards of the same suit, the player shall be paid at odds of 20 to one (1);

(C) If the player has five (5) cards of the same suit, the player shall be paid at odds of five (5) to one (1);

(D) If the player has four (4) cards of the same suit, the player shall be paid at odds of one (1) to one (1); and,

(D) If the player's winning hand has three (3) or fewer cards of the same suit, the player's hand is deemed a tie and the wager shall be returned to the player.

(6) Any same suit bonus wager shall win if the player has four or more cards of the same suit. It is irrelevant to the same suit bonus whether the player's hand beats the dealer's hand. A winning same suit bonus wager shall be paid as follows:

(A) If the player has a straight flush consisting of five (5), six (6) or seven (7) cards, the player shall be paid at odds of 500 to one (1);

(B) If the player has a flush consisting of seven (7) cards, the player shall be paid at odds of 400 to one (1);

(C) If the player has a flush consisting of six (6) cards, the player shall be paid at odds of 50 to one (1);

(D) If the player has a straight flush consisting of four (4) cards, the player shall be paid at odds of 20 to one (1);

(E) If the player has a flush consisting of five (5) cards, the player shall be paid at odds of five (5) to one (1);

(F) If the player has a flush consisting of four (4) cards, the player shall be paid at odds of one (1) to one (1); and,

(G) If the player has fewer than four (4) cards of the same suit, any same suit wager loses and the dealer shall collect the player's wager.

(j) If a player places an all in wager, the wager shall be placed in the designated all in betting area on the gaming table.

(k) If a player folds, all wagers of the player shall be collected by the dealer. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-6-30-17, May 10, 2017; amended, T-111-8-9-17, June 14, 2017.)

Article 312.—SPECIFIC LOTTERY FACILITY GAMES AT LOTTERY GAMING FACILITIES; MISSISSIPPI STUD POKER

111-312-3. Definitions. The following definitions, when used in the Southwest Kansas Lottery Gaming Zone, when pertaining to the game of "Mississippi Stud Poker" shall have the following meanings unless the context clearly indicates otherwise:

(a) "3rd street wager" means an additional wager made by a player, in an amount equal to one, two or three times the amount of the player's ante wager, after the player has been dealt his or her initial two cards.

(b) "4th street wager" means an additional wager made by a player, in an amount equal to one, two or three times the amount of the player's ante wager, after the first community card is revealed by the dealer.

(c) "5th street wager" means an additional wager made by a player, in an amount equal to one, two, or three times the amount of the player's ante wager, after the second community card is revealed by the dealer.

(d) "Ante wager" shall mean the initial wager placed prior to any cards being dealt in order to participate in the game.

(e) "Bet wager" shall mean either a 3rd street wager, a 4th street wager, or a 5th street wager.

(f) "Community card" means any of the three cards that are initially dealt face down in the designated area in front

of the dealer and, once revealed, shall be used by each player with his or her two cards to form a five card hand.

(g) "Game" means one complete cycle of play during which all players playing at the table have been dealt a hand, have wagered or folded upon their hand, and have had their winning wagers paid or losing wagers collected.

(h) "Hand" means the five (5) card hand formed for each player by combining the two (2) cards dealt to the player and the three (3) community cards.

(i) "Fold" means the withdrawal of a player from a game by discarding his or her two cards prior to placing a bet wager.

(j) "Push" means a player's hand resulting in neither payment on nor collection of the player's wagers.

(k) "Rank or ranking" shall mean the relative position of a card or group of cards.

(l) "Round of play" or "round" means each level of play beginning with the first player's opportunity to act and ending with the dealer revealing cards, except that the last round of play of the game will end with the dealer paying all winning wagers and collecting all losing wagers of all players remaining in the game.

(m) "Stub" means the remaining portion of the deck after all cards in the round of play have been dealt.

(n) "Suit" shall mean one of the four categories of cards, i.e., diamond, spade, club, or heart. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-12-7-10, Sept. 8, 2010; amended, T-111-7-6-11, May 18, 2011; amended, T-111-8-9-17, June 14, 2017.)

111-312-5. Wagers. (a) All wagers at Mississippi Stud Poker shall be made by placing gaming chips and, if applicable, a match play coupon on the appropriate betting areas of the table layout. A verbal wager accompanied by cash shall not be accepted.

(b) Only players who are seated at the Mississippi Stud Poker table may touch the cards. Once a player has placed a wager and received cards, that player must remain seated until the completion of the game.

(c) All ante wagers at Mississippi Stud Poker shall be placed prior to the dealer dealing the first card. No ante wager at Mississippi Stud Poker shall be made, increased or withdrawn once the player receives their first card.

(d) Prior to the first card being dealt for each game, each player at the game of Mississippi Stud Poker shall make an ante wager.

(e) Players who make an ante wager will receive two cards face down. They either fold or buy the first community card by making a 3^{rd} Street wager (equal to 1x, 2x, or 3x their ante). When that card is revealed, they either fold or buy the second community card making a 4^{th} Street wager (equal to 1x, 2x, or 3x their ante). After that card is revealed, a player may either fold or buy the last community card making a 5^{th} Street wager (equal to 1x, 2x, or 3x their ante).

(f) Any player who places a Mississippi Stud Poker wager may also make an optional 3 Card Bonus side wager and/or the Progressive wager by placing gaming chips, and if applicable, a match play coupon on the designated betting area of the table layout. The minimum and maximum wagers for the 3 Card Bonus (continued) and the Progressive will be posted at a conspicuous location on the table. The 3 Card Bonus wager will remain in play even if the player folds his or her Mississippi Stud Poker wager. If the player has placed a wager on the 3 Card Bonus side wager and folds his or her Mississippi Stud Poker wager, the dealer will remove the original Mississippi Stud Poker wager and tuck the folded cards under the player's 3 Card Bonus side wager. A player placing a 3 Card Bonus wager will win the wager if the three community cards constitute a least a pair or higher ranking Mississippi Stud Poker hand. See payout table for odds. The Progressive wager is based on the player's two cards and the three community cards. The Progressive wager does not qualify if the player folds. A player placing a Progressive wager will win the wager if the player's two cards and the three community cards constitute at least a three-of-a-kind or higher ranking Mississippi Stud Poker hand. See payout table for odds.

(g) After each player has acted in the final round, the dealer shall collect all losing wagers and pay off all winning wagers in accordance with the payout table. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-12-7-10, Sept. 8, 2010; amended, T-111-7-6-11, May 18, 2011; amended, T-111-6-30-14, June 11, 2014; amended, T-111-8-9-17, June 14, 2017.)

111-312-7. Payout odds. (a) For a winning hand, the ante, 3rd, 4th, and 5th street wagers are paid the same payout odds ranging from 1 to 1 for a pair of jacks, queens, kings or aces to 500 to 1 for a royal flush.

(b) All winning wagers will receive payout odds using the following payout table:

Hand Ranking	Odds
Royal flush	500 to 1
Straight flush	100 to 1
Four-of-a-kind	40 to 1
Full house	10 to 1
Flush	6 to 1
Straight	4 to 1
Three-of-a-kind	3 to 1
Two pair	2 to 1
Pair of jacks or better	1 to 1
Pair of 6s to 10s	Push

(c) Notwithstanding the payout odds set forth in (b) above, the aggregate payout shall be the posted table maximum wager times the maximum applicable odds. The aggregate payout information shall be displayed at the Mississippi stud poker table.

(d) All winning 3 Card Bonus side wagers will receive payout odds using the following payout table:

Hand Ranking	Odds
Straight flush	40 to 1
Three-of-a-kind	30 to 1
Straight	5 to 1
Flush	4 to 1
Pair	1 to 1

(e) All winning progressive wagers will receive payout odds using the following payout table:

Hand Ranking	Odds	Envy
Straight flush	100%	\$500
Four-of-a-kind	10%	\$25
Full house	50 for 1*	
Flush	40 for 1*	
Straight	30 for 1*	
Three-of-a-kind	9 for 1*	

*This does not include the return of the original wager.

For straight flush and four-of-a-kind wins, the odds are paid based upon the progressive meter at the time of the win. All wins for a full house, flush, straight and three-ofa-kind are based upon the amount of the player's wager. The envy is paid when one or more players make a progressive wager and another player at the table makes a qualifying hand associated with the envy pay. The envy is only paid to the other players who made the progressive wager. The player who made the qualifying hand only receives the normal payout. The initial and reset amount for the progressive jackpot shall be \$1,000, which shall be funded by the lottery gaming facility manager. For each progressive wager made thereafter, twenty-one percent (21%) of the wager shall be credited to the progressive jackpot. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-12-7-10, Sept. 8, 2010; amended, T-111-1-27-11, Jan. 16, 2011; amended, T-111-6-30-14, June 11, 2014; amended, T-111-8-9-17, June 14, 2017.)

Article 501.—SOUTH CENTRAL GAMING ZONE

111-501-6. Rules of the game. (a) The cards shall be shuffled under the following circumstances:

(1) A new set of decks are put into play.

(2) When the cut card appears during the course of the play (the shuffle will take place prior to the next round of play).

(3) Whenever the cards have been dropped or otherwise mishandled.

(4) Whenever instructed to do so by the table game supervisor or higher ranking casino official.

(5) At no time will the dealer shuffle at the request of a player unless authorized to do so by a table games supervisor or higher ranking casino official.

(b) The dealer is to maintain physical and visual contact with the deck at all times while the deck is out of the shoe; however, the cards shall be placed back in the dealer's shoe for commencement of play.

(c) A card shall be burned for the following reasons:

(1) After a shuffle of the cards.

(2) A card has been exposed or dealt by mistake unless the card was exposed or dealt by mistake to the player who acts immediately prior to the dealer.

(3) When a dealer is relieved, the new dealer shall burn a card.

(4) If a table is dead (no players), upon the arrival of new players, the dealer shall burn a card.

(d) All cards shall be dealt from a dealing shoe secured to and located on the extreme left-hand side of the table.

(e) All players' cards should be delivered face up, starting on the dealer's left and continuing clockwise around the table. (f) After each player has received one card, the dealer shall take one card face down. A second card should be dealt to each player face up and the dealer's final card will be dealt face up. The card should be placed underneath the first card which is now turned face up and should cover the hole card in such a way that no part of that card is visible.

(g) A player may elect to double down with any initial two (2) cards, and bet up to the amount of his original bet on the condition that only one (1) additional card shall be dealt to the player.

(h) The additional chips for the double-down bet should be placed next to the original wager before the double down card is dealt.

(i) The double down card will be exposed and placed across the two (2) cards involved, in such a manner as to keep the number exposed on the player's second card.

(j) When paying double down bets, the bet is not combined into one stack and the stack is not sized into the other stack. The dealer is not permitted to move the player's bet with chips in the dealer's hand.

(k) Whenever the initial two cards to a player are of the same face value, the player may elect to split the cards into two separate hands, provided that the player makes a bet equal to the original bet. The following rules apply to splitting cards:

(1) After splitting, the first hand will receive a card. This hand will be completed by either hitting again or staying before the next hand is dealt to.

(2) The second hand will receive a card. This hand will be completed by either hitting again or staying before moving on to the next hand.

(3) A player may split up to three times excluding aces which may only be split once. When aces are split, the player will only receive one card per ace.

(I) The dealer will ask if any player wishes to place an insurance bet when the dealer's "up" card is an ace.

(m) Insurance is a separate bet. The player is betting that the dealer has blackjack. If the dealer does not have blackjack, then the player loses the player's insurance bet.

(n) The player can take insurance for any amount up to one-half of the original bet.

(o) The proper (one-half or under) insurance bet shall be placed on the insurance line on the table layout.

(p) The dealer will then verbally close the time for accepting insurance bets.

(q) If the dealer's hand is a blackjack and the player has taken insurance, the dealer will take the losing bet and pay off the winning insurance bet with it in an amount not to exceed the player's original bet. Insurance will be paid at a rate of 2 to 1.

(r) If the player's hand is a blackjack and the dealer's "up" card is an ace, the player can announce even money and be paid the amount of the player's bet.

(s) Players may insure a toke bet and the bet is handled by the same procedure as any other insurance bet.

(t) A player may place more than one-half of their original bet on the insurance line but only one-half of their original bet is in action. Any overage will be returned to the player after it is determined that the dealer does or does not have blackjack.

(u) All blackjacks will be paid at odds of 3 to 2. The

dealer shall pay the player having a blackjack during the normal course of the dealer's take and pay procedures.

(v) If the dealer and a player have blackjack, the player's bet will be a push (tie).

(w) If the dealer looks at the dealer's hole card and fails to recognize the fact the dealer has a blackjack, the dealer's hand will be played as a total of 21 only, and not as a blackjack. A player that doubles down or splits will receive back any additional wagers made after their initial wager.

(w) Any player's hand that exceeds a total of 21 has broke or "busted" and their hand loses.

(x) If the dealer has an up card with the value of ten, the dealer will use the peeking device built into the gaming table to check to see if the dealer has a blackjack.

(y) If the dealer has a blackjack all losing bets will be collected and all blackjacks will push.

(z) If the dealer does not have blackjack the hand will continue as normal.

(aa) A card found turned upwards in the shoe shall not be used in that game and shall be placed in the discard rack (burned).

(bb) A card drawn in error without its face being exposed shall be used as though it were the next card from the shoe.

(cc) After the initial two cards have been dealt to each player and a card is drawn in error and exposed to the players, such card shall be burned or placed in the discard rack and will not be offered to any player or to the dealer unless the card was exposed or dealt by mistake to the player who acts immediately prior to the dealer unless the card was exposed or dealt by mistake to the player who acts immediately prior to the dealer. In that case, if the card is needed by the dealer to complete the dealer's hand, then the card shall be retained by the dealer. If the card is not needed by the dealer to complete the dealer's hand, then the card shall be burned. In that case if the card is needed by the dealer to complete the dealer's hand, then the card shall be retained by the dealer. If the card is not needed by the dealer to complete the dealer's hand, then the card shall be burned.

(dd) If the dealer has a point total of a hard seventeen or more and accidentally draws a card for the dealer, such card shall be burned.

(ee) If the dealer misses dealing his first or second card to the dealer, the dealer shall continue dealing the first two cards to each player, and then deal the appropriate number of cards to the dealer.

(ff) If there are insufficient cards remaining to complete a round of play, all of the cards in the discard rack shall be shuffled and cut, the first card shall be drawn face down and burned, and the dealer shall complete the round of play.

(gg) If no cards or only one card is dealt to a player's hand, the hand is dead and the player shall be included in the next deal.

(hh) If any card is dealt and an error occurs, at no time will any card be backed up as a result of the error.

(ii) If a dispute occurs because of a mistake during a hand, the table games supervisor or higher ranking casino official shall be authorized to declare that all or part of the hand is dead (void) and can return any disputed money. (continued)

(jj) If offered at the blackjack table, a player making a blackjack wager may also make an optional three card poker wager in the area on the table designated for that optional wager so long as the wager is made prior to the first card of the hand being removed from the shoe.

(kk) If a player makes an optional three card poker wager, the player may also make a three card poker wager as a tip for the dealer so long as the tip wager is made prior to the first card of the hand being removed from the shoe.

(ll) Resolution of all optional three card poker wagers shall be made after all players and the dealer have received their second card and before the blackjack game continues.

(mm) An optional three card poker wager will win if the dealer's card dealt face up and the player's two cards combined equal one of the following three card poker hands:

(1) A "flush," which means three cards of the same suit (hearts, spades, diamonds or clubs);

(2) A "straight," which means three cards of consecutive rank, with the ranking of cards from lowest to highest being 2, 3, 4, 5, 6, 7, 8, 9, 10, jack, queen, king, and ace, except that an ace can also be used with a 2 and 3 to make a straight;

(3) A "three of a kind," which means three cards of the same rank; and,

(4) A "straight flush," which means a "straight" as defined hereinabove, when all three cards are in the same suit.

(nn) An optional three card poker wager will lose if the dealer's card dealt face up and the player's two cards combined do not equal one of the three card poker hands listed in subsection "mm," above.

(oo) All winning three card poker wagers shall be paid at the rate of nine to one.

(pp) All three card poker wagers shall be taken or paid from the dealer's right to left before the blackjack portion of the game continues.

(qq) If offered at the blackjack table, a player making a blackjack wager may also make an optional king's bounty deluxe side wager in the area on the table designated for that optional wager so long as the wager is made prior to the first card of the round being removed from the shoe.

(rr) An additional king's bounty deluxe wager may be made by the player prior to the first card on the round being removed from the shoe in an area designated for the king's bounty deluxe wager as a tip for the dealer.

(ss) To begin each round, a player must make his or her blackjack wager and any optional wagers the player chooses to make, including the king's bounty deluxe wager.

(tt) The dealer then follows normal procedures for dealing the game of blackjack.

(uu) Once all players and the dealer have two cards, the dealer shall settle all king's bounty deluxe wagers as follows:

(1) The king's bounty deluxe wagers will be settled immediately after all players receives their first two (2) cards, except that if a player has two (2) kings of spades and the dealer has a potential blackjack, the dealer will settle that king's bounty deluxe wager at the end of the round of play;

(2) The dealer will then check the dealer's hole card;

(3) If a player has two (2) kings of spades and the dealer has a potential blackjack, the dealer will settle the king's

bounty deluxe wager at the end of the round. If the dealer has a blackjack, the player will not have the option of adding to their blackjack wager; and,

(4) If the dealer does not have a blackjack, players will have the options as described in subsections "ww" and "xx" herein.

(vv) A king's bounty deluxe wager will win and be paid at the following odds if the player's first two cards are as follows:

(1) Two kings of spades and the dealer has a blackjack pays 1,000 to 1;

(2) Two kings of spades and the dealer does not have a blackjack pays 75 to 1;

(3) Two kings of the same suit (other than spades) pays 25 to 1;

(4) Two 10's, two jacks or two queens of the same suit pays 10 to 1;

(5) Suited 20 (two cards of the same suit whose sum equals 20) pays 6 to 1;

(6) Two king's not of the same suit pays 4 to 1; and,

(7) Unsuited 20 (two cards not of the same suit whose sum equals 20) pays 2 to 1.

(ww) Players who win a king's bounty deluxe wager (except for players that have two (2) kings of spades when the dealer has a blackjack) shall then have the option to either collect that wager and winnings or place any amount up to the entire king's bounty deluxe wager and winnings on the player's original blackjack wager, but the cumulative total of the amount so added plus the original blackjack wager may not exceed the table limits.

(xx) Players who win a king's bounty deluxe wager and apply all or part of the winnings to their original blackjack wager will have this cumulative amount considered to be their blackjack wager. If the player eventually splits pairs, the player must match the entire wager. If the player doubles down, the player may wager any amount up to a maximum of the player's original wager.

(yy) If offered at the blackjack table, a player making a blackjack wager may also make an optional royal match deluxe wager in the area on the table designated for the optional wager so long as the wager is made prior to the first card of the hand being removed from the shoe.

(zz) If a player makes an optional royal match deluxe wager, the player may also make a royal match deluxe wager as a tip for the dealer so long as the tip wager is made prior to the first card of the hand being removed from the shoe.

(aaa) Resolution of all optional royal match deluxe wagers shall be made after all players and the dealer have received their second card and before the blackjack game continues.

(bbb) A royal match deluxe wager will win if both of the player's two cards are in the same suit. A royal match deluxe wager will lose if both of the player's two cards are not in the same suit.

(ccc) Winning royal match deluxe wagers shall be paid at odds of two to one, unless the two cards are a king and queen of the same suit, in which case the player's wager shall be paid at odds of 15 to one.

(ddd) The dealer will then check the dealer's hole card. If the dealer's hand constitutes a blackjack, the dealer must pay the player his or her wager and winnings on the royal match deluxe wager.

(eee) If the dealer's hand does not constitute a blackjack, a player winning a royal match deluxe wager shall have the following options:

(1) The player may collect the player's royal match deluxe wager and winnings; or,

(2) The player may place any or all of the player's royal match deluxe wager and winnings on their blackjack wager, except that the total amount of the blackjack wager may not exceed the maximum blackjack wager allowed for that hand of blackjack. If any portion of the royal match deluxe wager and winnings is not added to the player's blackjack wager, that portion shall be paid to the player. A player may add to the player's blackjack wager as set forth herein even if the player's hand constitutes a blackjack.

(fff) If a player adds any or all of the player's royal match deluxe wager and winnings to the blackjack wager, the amount added plus the original blackjack wager will then become the player's blackjack wager for that hand. If during that hand of blackjack the player splits pairs, the player must match that entire wager. If during that hand of blackjack the player doubles down, the player must place an additional wager in any amount that does not exceed the amount of the player's original wager.

(ggg) Only the dealer shall touch the gaming chips in order to add all or any portion of a winning royal match deluxe wager to a player's blackjack wager, per the instructions of that player. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-23-11, Aug. 17, 2011; amended, T-111-12-20-13, Nov. 13, 2013; amended, T-111-5-20-15, April 15, 2015; amended, T-111-8-9-17, June 14, 2017.)

> Terry Presta Executive Director

> > V. 36, p. 573

V. 35, p. 930

V. 35, p. 955

V. 35, p. 383

V. 35, p. 383

V. 35, p. 384

Register V. 35, p. 63

V. 35, p. 63

V. 36, p. 939-940

Doc. No. 045657

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2016 Supplement of the Kansas Administrative Regulations.

AGENCY 1: DEPARTMENT OF ADMINISTRATION

Reg. No.	Action	Register	
1-2-74	Amended	V. 35, p. 1093	
1-6-23	Amended	V. 35, p. 1093	
1-9-23	Amended	V. 35, p. 1094	
1-14-8	Amended	V. 35, p. 1096	
1-14-10	Amended	V. 35, p. 1097	
1-16-4	Amended	V. 35, p. 44	
1-16-8	Amended	V. 35, p. 44	
1-16-15	Amended	V. 35, p. 45	
1-16-18	Amended	V. 35, p. 45	
1-16-18a	Amended	V. 35, p. 46	
1-39-1		1	
through			
1-39-4	Revoked	V. 36, p. 8	
AGENCY 4: DEPARTMENT OF			

AGRICULTURE

Reg. No.	Action	Register
4-5-1	Revoked	V. 35, p. 238
4-5-2	Revoked	V. 35, p. 238
4-5-4	New	V. 35, p. 238

AGENCY 5: DEPARTMENT OF AGRICULTURE-DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-1-1	Amended	V. 35, p. 308
5-3-6a	Amended	V. 36, p. 159
5-12-1	Amended	V. 35, p. 313
5-14-10	Amended	V. 36, p. 823
5-14-12	New	V. 36, p. 825

5-21-3	Amended	V. 36, p. 160	28-4-592	Amended	V. 36, p. 573
5-21-6	Amended	V. 35, p. 431	28-17-10	Amended	V. 35, p. 566
5-22-7	Amended	V. 35, p. 199	28-17-11	Revoked	V. 35, p. 562
5-23-4	Amended	V. 35, p. 385	28-17-20	Amended	V. 35, p. 562
5-23-4b	Revoked	V. 35, p. 386	28-19-11	Amended	V. 35, p. 930
5-24-2	Amended	V. 35, p. 386	28-19-300	Amended	V. 35, p. 954
5-25-21	New	V. 35, p. 200	28-19-304	Amended	V. 35, p. 955
	Y 7: SECRETA	-	28-54-1 through	Timenaeu	1.00, p. 900
Reg. No.	Action	Register	28-54-5	Amended	V. 36, p. 939-940
7-23-16	New (T)	V. 35, p. 662	28-74-1	New	V. 35, p. 383
AGEN	NCY 9: DEPAR	1	28-74-2	New	V. 35, p. 383
	CULTURE-DI		28-74-3	New	V. 35, p. 383
nom	ANIMAL HEA		28-74-4	New	V. 35, p. 384
B 11			AGENCY	30: KANSAS D	EPARTMENT
Reg. No.	Action	Register		HILDREN AND	
9-3-9	Amended	V. 36, p. 140			
9-3-10	Amended	V. 36, p. 140	Reg. No.	Action	Register
9-7-4	Amended	V. 35, p. 428	30-44-2	Amended	V. 35, p. 63
9-7-4a	New	V. 35, p. 428	30-44-6	New	V. 35, p. 63
9-18-31	New	V. 35, p. 313	30-46-10	Amended	V. 35, p. 581
9-26-1	Revoked	V. 35, p. 314	AGENCY	40: KANSAS	INSURANCE
9-27-1	Amended	V. 35, p. 695		DEPARTMEN	
AGENC	Y 16: ATTORN	EY GENERAL	Reg. No.	Action	Register
Reg. No.	Action	Register	40-1-37	Amended	V. 36, p. 918
16-9-1	Revoked	V. 35, p. 1033	40-1-48	Amended	V. 36, p. 919
16-14-10	New (T)	V. 35, p. 626	40-2-18	Amended	V. 35, p. 405
16-14-10	New	V. 35, p. 858	40-4-34	Amended	V. 35, p. 384
16-14-11	New (T)	V. 35, p. 626	40-4-41	Amended	V. 35, p. 633
16-14-11	New	V. 35, p. 858	40-4-42a	Amended	V. 36, p. 954
16-15-1	11011	1.00, p. 000			1
through			AGEN	CY 44: DEPAR	
16-15-4	New (T)	V. 35, p. 626-628		CORRECTIO	NS
16-15-1		1.00, p. 020 020	Reg. No.	Action	Register
through			44-12-301	Amended (T	0
16-15-4	New	V. 35, p. 858-860	44-12-301	Amended	V. 35, p. 898
16-16-1	New	V. 35, p. 1033			1
16-16-2	New	V. 35, p. 1033	AGENCY 4	9: DEPARTME	NT OF LABOR
16-16-3	New	V. 35, p. 1033	Reg. No.	Action	Register
			49-55-1	Amended (T	0
		ENT OF HEALTH	49-55-2	Amended (T	
Α	ND ENVIRON	IMENT	49-55-3	Revoked (T)	V. 36, p. 842
Reg. No.	Action	Register	49-55-4	Amended (T	
28-4-114a	Amended	V. 36, p. 364	49-55-5	Revoked (T)	V. 36, p. 842
28-4-118	Amended	V. 36, p. 365	49-55-6	Amended (T	
28-4-428	Amended	V. 36, p. 366	49-55-8	Amended (T	
28-4-428a	Amended	V. 36, p. 366	49-55-11	Amended (T	
20 1 120a	7 michaed	v. 50, p. 500		incluce (1	,, p. 040

Reg. No. 40-1-37 40-1-48 40-2-18 40-4-34 40-4-41 40-4-42a	Action Amended Amended Amended Amended Amended Amended	Register V. 36, p. 918 V. 36, p. 919 V. 35, p. 405 V. 35, p. 384 V. 35, p. 633 V. 36, p. 954
40-4-42a	Amended	V. 36, p. 954

ENCY 44: DEPARTMENT OF CORRECTIONS

Reg. No. 44-12-301 44-12-301	Action Amended (T) Amended DEPARTMENT	Register V. 35, p. 742 V. 35, p. 898
Reg. No.	Action	Register
49-55-1	Amended (T)	V. 36, p. 842
49-55-2	Amended (T)	V. 36, p. 842
49-55-3	Revoked (T)	V. 36, p. 842
49-55-4	Amended (T)	V. 36, p. 842
49-55-5	Revoked (T)	V. 36, p. 842
49-55-6	Amended (T)	V. 36, p. 842
49-55-8	Amended (T)	V. 36, p. 842
49-55-11	Amended (T)	V. 36, p. 843
49-55-12	Amended (T)	V. 36, p. 843

Vol. 36, No. 34, August 24, 2017

Amended

V. 36, p. 571

28-4-587

Amended

V. 35, p. 1113

88-29-11

49-55-13 New (T) V. 36, p. 843 **AGENCY 51: DEPARTMENT OF** LABOR-DIVISION OF WORKERS COMPENSATION Reg. No. Action Register 51-9-7 Amended V. 35, p. 1046 AGENCY 60: BOARD OF NURSING Action Register Reg. No. 60-2-101 Amended V. 35, p. 322 60-3-102 Amended V. 35, p. 323 Amended V. 35, p. 323 60-3-103 60-3-110 Amended V. 35, p. 323 Amended 60-3-113 V. 35, p. 324 60-4-101 Amended V. 36, p. 369 60-7-102 V. 35, p. 324 Amended 60-7-106 Amended V. 35, p. 324 60-9-105 Amended V. 35, p. 325 60-9-106 Amended V. 35, p. 326 60-17-102 Amended V. 35, p. 327 **AGENCY 61: BOARD OF BARBERING** Reg. No. Action Register 61-1-24 V. 35, p. 991 Amended V. 35, p. 991 61-3-2 Amended 61-3-3 Amended V. 35, p. 991 V. 35, p. 991 61-3-5 Amended 61-3-7 Amended V. 35, p. 384 61-3-20 Amended V. 35, p. 991 61-4-2 Amended V. 35, p. 991 61-7-1 Revoked V. 35, p. 385 61-7-2 New V. 35, p. 385 **AGENCY 66: BOARD OF TECHNICAL** PROFESSIONS Reg. No. Action Register 66-6-1 Amended V. 35, p. 455 AGENCY 67: KANSAS BOARD OF EXAMINERS IN FITTING AND DISPENSING OF HEARING **INSTRUMENTS** Reg. No. Action Register Amended V. 36, p. 80 67-2-4 67-5-5 Amended V. 36, p. 81 **AGENCY 68: BOARD OF PHARMACY** Register Action Reg. No. 68-1-1b Amended V. 35, p. 695 68-1-1f Amended V. 35, p. 696 68-1-1g Revoked V. 35, p. 696 V. 35, p. 696 68-5-18 New 68-7-10 Amended V. 35, p. 697 V. 35, p. 427 68-7-22 New 68-7-23 New (T) V. 36, p. 822 68-9-2 Amended V. 35, p. 698 68-9-3 New V. 35, p. 699 68-11-3 New V. 35, p. 700 **AGENCY 69: BOARD OF** COSMETOLOGY Reg. No. Action Register V. 35, p. 1097 69-11-1 Amended 69-12-18 New V. 35, p. 1098 **AGENCY 70: DEPARTMENT OF** AGRICULTURE, BOARD OF VETERINARY EXAMINERS Action Reg. No. Register 70-5-1 Amended V. 36, p. 140 AGENCY 71: KANSAS DENTAL BOARD Reg. No. Action Register 71-6-5 Amended V. 35, p. 140

© Kansas Secretary of State 2017

AGENCY 74: BOARD OF

AGENCY 74: BOARD OF ACCOUNTANCY			
Reg. No.	Action	Register	
74-1-3	Amended	V. 35, p. 84	
74-1-4	Amended	V. 35, p. 84	
74-2-7	Amended	V. 35, p. 85	
74-4-8	Amended	V. 35, p. 85	
74-4-9	Amended	V. 35, p. 86	
74-5-2	Amended	V. 35, p. 87	
74-5-2a 74-5-2b	Amended New	V. 35, p. 88 V. 35, p. 88	
74-5-101	INCOV	v. 55, p. 88	
through			
74-5-104	Amended	V. 35, p. 88, 89	
74-5-201		1	
through			
74-5-203	Amended	V. 35, p. 89	
74-5-301	Amended	V. 35, p. 90	
74-5-401 74-5-403	Amended Amended	V. 35, p. 90 V. 35, p. 90	
74-5-405a	Amended	V. 35, p. 90 V. 35, p. 90	
74-5-406	Amended	V. 35, p. 90	
74-5-407	Amended	V. 35, p. 91	
74-11-6	Amended	V. 35, p. 91	
74-11-7	Amended	V. 35, p. 91	
74-15-1	Amended	V. 35, p. 92	
AGENCY 8	2: STATE CC	RPORATION	
	COMMISSI	N	
Reg. No.	Action	Register	
82-4-1	Amended	V. 35, p. 357	
82-4-2a	Amended	V. 35, p. 359	
82-4-3h	Amended	V. 35, p. 359	
82-4-3i	Amended	V. 35, p. 360	
82-4-3j 82-4-3k	Amended Amended	V. 35, p. 362 V. 35, p. 363	
82-4-3n	Amended	V. 35, p. 364	
82-4-30	Amended	V. 35, p. 366	
82-4-8a	Revoked	V. 35, p. 366	
82-4-20	Amended	V. 35, p. 366	
82-16-1	Amended	V. 36, p. 102	
82-16-2	Amended	V. 36, p. 103	
82-16-3 82-16-4	Revoked Amended	V. 36, p. 103	
82-16-5	Revoked	V. 36, p. 103 V. 36, p. 103	
82-16-6	Amended	V. 36, p. 103	
AGENCY 86: REAL ESTATE COMMISSION			
Reg. No.	Action	Register	
86-1-2 86-1-4	Revoked Revoked	V. 35, p. 928 V. 35, p. 929	
86-1-5	Amended	V. 36, p. 159	
86-2-8	Revoked	V. 35, p. 929	
86-3-19	Amended	V. 35, p. 929	
86-3-26a	Amended	V. 35, p. 929	
86-3-30	Revoked	V. 35, p. 929	
86-3-31	New	V. 35, p. 929	
AGENCY	88: BOARD (OF REGENTS	
Reg. No.	Action	Register	
88-3-8a	Amended	V. 36, p. 444	
88-24-2	Amended	V. 36, p. 445	
88-28-1 through			
through 88-28-8	Amended	V. 36, p. 445-452	
88-29-2	Revoked	V. 35, p. 1113	
88-29-5	Revoked	V. 35, p. 1113 V. 35, p. 1113	
88-29-6	Revoked	V. 35, p. 1113	
88-29-7	Revoked	V. 35, p. 1113	
88-29-7a	Revoked	V. 35, p. 1113	
88-29-8	Revoked	V. 35, p. 1113	
88-29-8c 88-29-9	Revoked Revoked	V. 35, p. 1113 V. 35, p. 1113	
88-29-10	Revoked	V. 35, p. 1113 V. 35, p. 1113	
	_ic, oneu	······	

AGENCY 91: DEPARTMENT OF EDUCATION			
Reg. No. 91-1-70a 91-1-208 91-1-221 91-1-235 91-31-32 91-38-1	Action Amended Amended Revoked Amended Amended	Register V. 36, p. 609 V. 36, p. 609 V. 36, p. 609 V. 36, p. 610 V. 35, p. 1014	
through 91-38-8 91-42-1 91-42-2 91-42-3 91-42-3 91-42-4 91-42-5 91-42-5 91-42-6 91-42-7	Amended V Amended New Amended New New New Amended	. 36, p. 611-615 V. 36, p. 616 V. 36, p. 616 V. 35, p. 487 V. 36, p. 617 V. 35, p. 488 V. 35, p. 488 V. 35, p. 489 V. 36, p. 618	
AGENC	Y 92: DEPARTN REVENUE	IENT OF	
Reg. No. 92-23-9	Action	Register	
through 92-23-23 92-23-25 92-23-30 92-23-31 92-23-37	Revoked Revoked Revoked Revoked	V. 35, p. 63, 64 V. 35, p. 64 V. 35, p. 64 V. 35, p. 64	
through 92-23-40 92-23-41	Revoked	V. 35, p. 64	
through 92-23-59 92-23-70	New	V. 35, p. 64-67	
through 92-23-75 92-57-1	New	V. 35, p. 67, 68	
through 92-57-5	New V.	36, p. 843, 844	
AGENCY 93: DEPARTMENT OF REVENUE-DIVISION OF PROPERTY VALUATION			
Reg. No. 93-6-3	Action Amended	Register V. 35, p. 357	
AGENCY 100: BOARD OF HEALING ARTS			
Reg. No. 100-28a-1a 100-28a-6 100-28a-9 100-28a-9a 100-28a-10	Action New Amended Amended New Amended	Register V. 35, p. 353 V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354	

100-28a-9	Amended	V. 35, p. 354			
100-28a-9a	New	V. 35, p. 354			
100-28a-10	Amended	V. 35, p. 354			
100-28a-11	Amended	V. 35, p. 355			
100-28a-12	Amended	V. 35, p. 355			
100-28a-13	Amended	V. 35, p. 355			
100-28a-14	Amended	V. 35, p. 356			
100-28a-15	Amended	V. 35, p. 356			
100-28a-17	Amended	V. 35, p. 356			
100-29-9	Amended	V. 35, p. 387			
100-29-16	Amended	V. 35, p. 388			
100-29-18					
through					
100-29-21	New	V. 36, p. 368, 369			
100-54-7	Amended	V. 35, p. 389			
100-54-12	New	V. 35, p. 390			
AGENCY 102: BEHAVIORAL SCIENCES					

BEHAVIORAL SCIENCES **REGULATORY BOARD**

Reg. No.	Action	Register
102-3-7b	New (T)	V. 36, p. 546
102-5-7b	New (T)	V. 36, p. 546

	Regulati	0115	Ka	nsas Re	gister			ç
.02-8-1	New (T)	V. 35, p. 628	111-2-30	Amended	V. 36, p. 880	111-15-7	Amended	V. 35, p. 1
.02-8-1	New	V. 35, p. 930	111-2-62	Amended	V. 36, p. 564	111-15-21	Amended	V. 35, p. 1
.02-8-2	New (T)	V. 35, p. 628	111-2-321	New	V. 35, p. 898	111-16-1	Amended	V. 35, p.
.02-8-2	. ,		111-2-322	New	V. 35, p. 898	111-16-2	Amended	V. 35, p.
	New	V. 35, p. 931						
.02-8-4	New (T)	V. 35, p. 629	111-3-1	Amended	V. 35, p. 898	111-16-5	Amended	V. 35, p.
.02-8-4	New	V. 35, p. 931	111-4-878	Amended	V. 35, p. 819	111-17-21	Amended	
.02-8-6	New (T)	V. 35, p. 629	111-4-879	Amended	V. 35, p. 819	111-17-24	New	V. 35, p.
02-8-6	New	V. 35, p. 932	111-4-880	Amended	V. 35, p. 819	111-17-25	New	V. 35, p.
02-8-7	New (T)	V. 35, p. 629	111-4-3417			111-17-27	New	V. 35, p.
02-8-7	New	V. 35, p. 932	through			111-17-28	New	V. 35, p.
02-8-8	New (T)	V. 35, p. 646	111-4-3421	New	V. 35, p. 131-135	111-17-29	New	V. 35, p.
02-8-8	New		111-4-3422	New	V. 35, p. 157	111-17-30	New	V. 35, p.
	INew	V. 35, p. 932						
)2-8-9			111-4-3423	New	V. 35, p. 157	111-17-31	New	V. 35, p.
ırough			111-4-3424			111-17-32	New	V. 35, p.
02-8-12	New (T)	V. 35, p. 630-632	through			111-17-33	New	V. 35, p.
)2-8-9			111-4-3431	New	V. 35, p. 406-408	111-17-34	Amended	V. 35, p. 1
rough			111-4-3432	New	V. 35, p. 491	111-17-35	New	V. 35, p.
)2-8-12	New	V. 35, p. 932-935	111-4-3433		, F	111-17-36	New	V. 36, p.
02-0-12	INCW	v. 33, p. 932-933	through			111-18-1	11011	
AGENCY 10	5: BOARD C	DF INDIGENTS'	111-4-3439	New	V 25 p 457 461	through		
DI	EFENSE SER	VICES			V. 35, p. 457-461	0	NT	V 26 220
			111-4-3440	Amended	V. 35, p. 900	111-18-7	New	V. 36, p. 220
eg. No.	Action	Register	111-4-3441	New	V. 35, p. 463	111-19-1		
)5-5-2	Amended	V. 35, p. 936	111-4-3442			through		
)5-5-3	Amended	V. 35, p. 936	through			111-19-5	New	V. 36, p. 224
)5-5-6	Amended	V. 35, p. 937	111-4-3445	New	V. 35, p. 492-495	111-19-6		1
)5-5-7	Amended		111-4-3446			through		
		V. 35, p. 937	through			111-19-8	New	V. 36, p. 405
)5-5-8	Amended	V. 35, p. 937	0	New	V. 35, p. 582-584	111-19-9	New	V. 36, p. 405
)5-11-1	Amended	V. 35, p. 938	111-4-3449					1
CENCV 10		EEMERCENCY	111-4-3450	New	V. 35, p. 678	111-19-10	New	V. 36,
		FEMERGENCY	111-4-3451	New	V. 35, p. 765	111-19-11	Amended	V. 36, p
M	EDICAL SER	VICES	111-4-3452	New	V. 35, p. 766	111-19-12		
eg. No.	Action	Register	111-4-3453	New	V. 35, p. 768	through		
19-1-1			111-4-3454	New	V. 35, p. 821	111-19-18	New	V. 36, p. 495
	Amended	V. 35, p. 314	111-4-3455	itew	1.00, p. 021	111-19-19	New	V. 36, p
)9-2-1	Amended	V. 35, p. 317						V. 30, p
)9-2-2	Amended	V. 35, p. 317	through	N	V/ 25 000 004	111-301-28	Amended	V. 36, p
)9-2-6	Amended	V. 35, p. 318	111-4-3459	New	V. 35, p. 900-904	111-301-45	Amended	V. 35, p
)9-2-7	Revoked	V. 35, p. 318	111-4-3460	New	V. 35, p. 1057	111-301-47	New	V. 35, p.
)9-2-8	Amended	V. 36, p. 593	111-4-3461	New	V. 35, p. 1058	111-301-48	Amended	V. 36, p
)9-2-11	Amended	V. 35, p. 320	111-4-3462	New	V. 35, p. 1059	111-301-49	New	V. 35, p.
)9-3-3	Amended		111-4-3463		· 1	111-301-50	Amended	V. 36, p
		V. 36, p. 329	through			111-301-51	New	V. 35, p.
)9-3-4	Amended	V. 36, p. 330	111-4-3465	New	V. 36, p. 160-162	111-301-52	Amended	V. 36, p
)9-5-1a	Amended	V. 35, p. 935			· 1		Amenueu	v. 50, p
)9-5-1b	Amended	V. 35, p. 936	111-4-3466	New	V. 36, p. 192	111-301-53		
)9-5-1c	Amended	V. 35, p. 936	111-4-3467	New	V. 36, p. 193	through		
)9-5-5	Amended	V. 35, p. 582	111-4-3468	New	V. 36, p. 217	111-301-57	New	V. 35, p. 1067-
9-7-1	Amended	V. 35, p. 321	111-4-3469	New	V. 36, p. 218	111-301-58		
	michaea	v. 66, p. 621	111-4-3470	New	V. 36, p. 219	through		
AGENCY	(111: KANSA	AS LOTTERY	111-4-3471		1	111-301-62	New	V. 36, p. 884
		11 1	through			111-307-5	Amended	V. 35, p
		ting all regula-	111-4-3475	New	V. 36, p. 398-403	111-307-7	Amended	V. 35, p
2		Lottery from 1988		INCW	v. 50, p. 598-405	111-401-35		
rough 2000	can be found	in the Vol. 19, No.	111-4-3476				Amended	V. 36, p
2, December	28, 2000 Kan	sas Register. A list	through	N.T.	11.04 100 100	111-401-36	Amended	V. 35, p
regulations	s filed from 2	001 through 2003	111-4-3485	New	V. 36, p. 483-492	111-401-37	Amended	V. 35, p
		2, No. 52, Decem-	111-4-3486	New	V. 36, p. 565	111-401-142	Amended	V. 36, p
		er. A list of regu-	111-4-3487	Amended	V. 36, p. 880	111-401-148	Amended	V. 35, p
			111-4-3488	New	V. 36, p. 567	111-401-185		1
		ough 2005 can be	111-4-3489	New	V. 36, p. 881	through		
		52, December 29,			V. 36, p. 882	111-401-188	Amended	V. 35, p
05 Kansas	Register. A li	ist of regulations	111-4-3490	New			Amenueu	v. 55, p
led from 200)6 through 200	07 can be found in	111-5-219	New	V. 36, p. 493	111-401-190		
		oer 27, 2007 Kansas	111-5-220			through		
		ns filed from 2008	through			111-401-194	Amended	V. 35, p
0	0		111-5-227	New V	V. 35, p. 1060-1064	111-401-200a	New	V. 35, p
. 0		an be found in the	111-6-1	Amended	V. 35, p. 907	111-401-201		1 /
		r 31, 2009 Kansas	111-7-66	Amended	V. 35, p. 158	through		
egister. A lis	t of regulatio	ns filed from De-		Amended		0	Now	V. 35, p. 409
		ecember 21, 2011,	111-7-68		V. 35, p. 159	111-401-205	New	v. 55, p. 409
	· · · · · · · · · · · · · · · · · · ·	0, No. 52, Decem-	111-7-73	Amended	V. 35, p. 159	111-401-206		
		r. A list of regula-	111-7-75	Amended	V. 35, p. 159	through		
	<u> </u>		111-7-265	New	V. 36, p. 404	111-401-210	New	V. 36, p. 569
		22, 2011, through	111-7-266	New	V. 36, p. 405	111-501-38	Amended	V. 36, p
		found in the Vol.	111-9-216	New	V. 35, p. 586	111-501-122		1 /
2, No. 52, D	ecember 26, 2	2013 Kansas Regis-	111-9-217	New	V. 35, p. 586	through		
r. A list of re	gulations file	d from November					Nor	V 25 - 410
	<u> </u>	r 31, 2015, can be	111-15-1	Amended	V. 35, p. 821	111-501-127	New	V. 35, p. 412
		53, December 31,	111-15-2	Amended	V. 35, p. 821	111-501-128		
		oo, Detember or,	111-15-3	Amended	V. 35, p. 822	through		
	agister							
)15 Kansas R	legister.		111-15-5	Amended	V. 35, p. 823	111-501-138	New	V. 35, p. 910

Vol. 36, No. 34, August 24, 2017

_____ Kansas Register _____

111-601-1 through 111-601-8 111-601-14 through	New	V. 36, p. 164-167	115-8-1 115-8-13 115-8-24 115-16-3 115-17-2	Amended Amended Revoked Amended Amended	V. 36, p. 398 V. 35, p. 975 V. 35, p. 633 V. 36, p. 859 V. 35, p. 976	AGENCY 123: DEPARTMENT OF CORRECTIONS – DIVISION OF JUVENILE SERVICES Reg. No. Action Register		
111-601-27 111-601-28	New Amended	V. 36, p. 167-171 V. 36, p. 497	115-18-20 115-20-2	Amended Amended Amended	V. 35, p. 977 V. 35, p. 859 V. 36, p. 859	123-17-101 AGENCY 12	New 25: KANSAS AGI	V. 36, p. 369 RICULTURAL
111-601-29		, F , F	115-20-7	Amended	V. 36, p. 860	RE	MEDIATION BO	ARD
through 111-601-45	New	V. 36, p. 172-178	-	NCY 117: REAL		Reg. No. 125-1-6	Action Amended	Register V. 35, p. 489
AGENCY 112: RACING AND GAMING COMMISSION		Reg. No. 117-1-1	Action Amended	Register V. 36, p. 452	125-1-7 Amended V. 35, p. 490 AGENCY 128: DEPARTMENT OF			
Reg. No. 112-102-2	Action Amended	Register V. 35, p. 612	117-2-2 117-2-2a	Amended Amended	V. 36, p. 452 V. 36, p. 453	COMMERCE-KANSAS ATHLETIC COMMISSION		
	CY 115: DEPAI FE, PARKS AN	RTMENT OF ID TOURISM	117-2-4 117-3-2 117-3-2a	Amended Amended Amended	V. 35, p. 536 V. 36, p. 454 V. 36, p. 455	128-6-4 Amended (T) V. 35, p. 1		Register V. 35, p. 1115 V. 36, 271
Reg. No. 115-2-2 115-2-3	Action Amended Amended	Register V. 35, p. 973 V. 35, p. 973	117-3-4 117-4-1 117-4-2	Amended Amended Amended	V. 35, p. 537 V. 35, p. 537 V. 36, p. 455	AGENCY 133: OFFICE OF ADMINISTRATIVE HEARINGS		
115-4-2 115-4-11	Amended Amended	V. 36, p. 273 V. 36, p. 274	117-4-2a 117-4-4	Amended Amended	V. 36, p. 456 V. 35, p. 539	Reg. No. 133-1-1	Action	Register
115-7-1 115-7-10	Amended Amended	V. 35, p. 974 V. 35, p. 975	117-5-2a 117-8-3	Amended New	V. 36, p. 457 V. 35, p. 199	through 133-1-4	New	V. 36, p. 8

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594